2011-2012

| = AN Name of Centre
e T . 3 HE Duration © 3 hours
s = 200 Max, Marks ¢ 200
e =T Roll No.
Instructions to Candidates la: | L 10 o LR R

b

3o not tear away any portion of question paper.
Part-1 15 -.*:m‘npul:sl;r}r for all candidates and of
100 marks. Par—I1 consists of two sub parts ie.
[Part-Il-A) : Basic of Radio Broadcasting] and
[Part=11 (B) : Basic of TV Broadcasting]. Candidate
may choose either Part—I1 (A) or Pant-11 (B). Each
part 15 of 100 marks.

1. W-TF @ EE um wEw 9 FE

a1 Tl s & T sferd @, 50 00
FHFTF1 B am-1 D - A=A ¢ e
e e - S L S T
Ieiifre wonT % anem foge | w0 A E
s o Al W=l (A) T SFIL(B) T T
+¢ TEA £ WE WM 100 E W R

3, Answer all questions from the pant chusen ie. |3, W T WM-TI(A) W 9W-II(B) # | W ®
Part—Il(A) or Pan-[I{B). Do not attempt some e SifEn WA (A) B HE WE SR -1
Questions from Pan—1l{A) and some from Par- (B) o e W A E i e | ST araiEE
11{B), otherwise your candidature will be rejected. T W A S

4. Your answers are to be recorded on the question | 4wy % T T T-T W A R WA § S
paper itsclfl as per instruction against cach queston. & vl U & W seEd o #1

5. Answer the papers wholly either in Englishovin | 5 o} qyq.73 % 3w Eﬂﬁﬂﬂ'ﬁl o Fae et
Hindi, Paper atempted partdy in English and partly 1 ¥ fe wmE W st § 3t S wm =
in Hindi is likely to be rejected. # 7 W TWT T E R a;@l

MM | PART-1 | PART-II(A) | PART-II(B)
. Mo. Totad Marks R
1 50 PART-1 & PART-II
1 20
I = Checked by
v L
¥ 10 Verified by
TOTAL | 100

(1)

194/ |1




a1 ( )

faeq v et # germ fagia
( THF-100 37F )
UL I U H 2-2 3E & 25w §)
Wil I & WO | 'El From wmm (50)
L. fFrefafer 4 3 e afefe aR t 0 mﬁmflﬁfﬁﬂkﬁﬁwé
) Q
(F) V., =Vpiaf2 AV 14
(&) V .=Vpx 2 _-l-‘mr was E{D
() Vi =Vp/2 [ (%) 5V -
(M V, . =Vpx2 I‘.;HJI 10V :
() 15V :]
2, W HEN w AR W e g 7 (%) 20v
(%) 1 d, TR FARA B e (V) 3 T s
B - (V) F w-w Afsfa w2
E'ﬂ;'} ""r=vL"rwJ"§
(7) 025 (F) V=V, x &
(=) 0.1 {m) ‘H"F="il"]_!3
(") Vrzvl_hl:j I:

194/ 2] -




PART-T (Compulsory)
(BASIC PRINCIPLES OF ELECTRICITY & ELECTRONICS)

: (Total-100 Marks)
Q. 1 This question contains 25 questions of 2 marks each. '

Mark Cross E against the most appropriate answer. (50)

I.  Which of the following expression is

. 3. What is the voltage measured by voltmetér 7 -
correct : s

5C)

Ay +

(a) 5V e ]
(b) 10V : I="]
(€) 15V . i

S (dy 20V
Whit is the ideal value of power factor ?

() V.= V2

I:-l'lj "-"__rm — "'.-ri'.l b -.,I'E
e \."IHE

) ¥

rmes

Hininn

{d) "n"ll_m = Vpx 2

[

4. In star connection, the relationship between

(a) 1 [ phase voltage(V ) and line .mltagi:{\"L:l is: -
W, =
® 03 e (Y o ]
(b Vo= "."L x ﬁ |
() 025 © Vy =V, =]
idy 0.1 I {d) Vp=V, %3 ]:l
(3) '
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8.

A plastic film capacitor is colour coated from
top to bottom as brown, black,vellow, black
and red, What is the value of the capacitor 7
(3) 1 pF ]
(b) 0.1 pF
(¢) 10 pF

(d) 0.01 yF

[ ]

LCeramic capacitors arg mainlty used in
{a) Low - frequency circuits
(b) High - frequency circuits
(¢} DC circuits

{d} MNone of the above

Basically, a battery is a source of -
{a] Steady uc current

(b} Steady de current

e} Steady ac voltage

(d} Steady de voltage

In a fully charged cell the mixture of water
and sulfuric acid results in a specific gravity
of:

(@) 1.150
(b} 1280
(cy 1150
(d) 1280

Servo stabilizer 15 used in:
() UPS

{b) SMPS

icy AVR

(d) Circuit breakers

LU 0000

]
]
]
]
]
],
[

(5)

ol

10, In de motor, armature resistance is very low,

usually less than:

fa) 1000 0

(b} 100

{cy 10 Q

(dy 1402

Transformer coupling is based on -
(a) Ohm's law

(b) Kirchhoff's law

(¢} Faraday's law

Jd) Lenz's law

00 OO0

12, The direction of current in the secondary of

i transformer in comparison to the current
flow in the primary is ;

(@) Same :[
(b} Opposite [ ]
{c) Both

(d) Any -

13. In eleciric strength test of the transformer

14.

oil, the oil should not breakdown at:

(a) SKV i
by 10KV =
(c) 20KV [ ]
(d) 30KV []

In acidity test of the transformer oil, if acidity
15 berween 0.5 and 1.0 mg KOH/gm of the
oil; then:

(a) Reject oil and replace by new oil
(b} Filter oil and keep under observation
by testing every six months =
Add some acid and water ::I J

i

(c)
(d)

Mo acijon
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15.

16

17.

19,

)

Tetrode is a:

{a) Electrode

(b) Power source
fc)  Walve

(d) All of the above

L

Majority camiers in N-type semiconductor
are :

[a) Electrons
Protons
MNeutrons

Haoles

{c)
(d)
Vacuum triode is equivalent to:
(a) PNP transistor

(b} NPN transistor

(¢} Junction diode

(d) MOSFET

L D

3
g

In common emitter amplitier, the collec
base junction is :
(a) Mot biased

(b} Forward biased
(¢) Reverse biased

(d) None of the above

1

“Its output is high(logic 1) if and only if all °
lts inputs are high{logicl)" is true for:

{a) AND gate

by OR gate

(c) NOT gate

(d) All of the above-

(L1

An ammeter is a galvanometer in parallel
with a;

ta) Small resistance
(b} High resistance

{c) Both (a) & (b)

{d) None of the above

1T

(7.

21.

S

23,

28,

-I KB (Kilo Byte) of memory contain

A low pass filter{LPF) 15 designed 1o block
the:

{a} Low frequency componenis E:
{(b) High frequency components J____
{c) A band of frequency

(d} None of the above

How many diodes are used in a bridge

rectifier:

(m) 1 |:
® 2 ]
(c) 3

(d) 4

(a) 1000 bytes
(b) 1024 bytes
(c} 100 bytes

(d} 124 bytes :

Resistance of fuse wire is:
{a) High

(b} Low

(c) Very high

(d} Infinite

LAN uses the:

(a) Ring tﬂpﬂlugly
(b) Star topology
{¢) Bus topology
{d} Tree topology

(000 0000
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q; 11}

Fill in the blanks : {2 marks for cach question, total 20 marks)
L, diode keeps a constant D.C. voltage output in regulated power
suppl}l ]
2. A puw-:r supply that maintains the irrespective of ac mains
fMuctuations or load variations is known as a regulated power supply.
3. transformers has higher secondary coil voltage than the primary one.
4. An electric motor converts energy into mechanical rotations of its
shafi,
3. When a current flows through a coil, the coil itself acts as a ]
6:  Common collector amplifier has VEry input resistance
7. Commonly used amplifier in transmitfer circuits ic tuned class
amplifier.
8. H.T. supply is required in case the maximum demand of station exceeds
KVA.
9. In a series connected resistors 15 same through all the resistances,
10, In a paralle] connected resistors, the _ is same across all branches of
the circuit,
State whether True (V) /False (%) ; (2 marks for each question, total 10 marks)
I. The noise level is more at the input of an amplifier than at its outpu. { )
2. An oscillator is & simple circuit, consisting of a capacitor and of a eoil
connected in paraliel, { |
3. High pass filter (HPF) has a low cut-off frequency below which
frequencies are not allowsd o pass through., - { ]
4. To prevent high starting current in D.C. motor, a resistance called the
“starting resistor” is put'in parallel with the armature at starting, { )
3. The output of OR gate is low (Logic O) if one or both its input are high ¢ }

« ()
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Q. IV.  Draw circuit/symbols for the following (2 marks for each) ; {Total 10 marks)

I,  AND pate

[

Common Emitter Amplifier

3 D.C. motor star-delta starter

4. Varable dc voltage source

5 Potentiometer

A Write Full form of the following abbreviations (2 marks for each) :  (Total 10 marks)

BT ROER e st B B R A B s oy
. LDRE I

B WO s A e s
- INR pmsmmissesanae RS e i 9 i A P L s Bk

3 UIT




H-1I

a1 @l - (A) A1 9F-I1(B) 9T 9o 99 T 9 &
e g & IO LU (YRE 9 100 HF D)




PART-II
Choose either Part-II (A) or Part—II (B) and answer all
questions in the part chosen (100 Marks for each part.)

(13) A
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0.1

Mark Cross E against the most appropriate answer,

1.

PART-II{A)
(BASIC OF RADIO BROADCASTING)

{Total-100 Marks)

This guestion contains 25 questions of 2 marks each.

The total harmonic distortion (THD} of the
audio amplifier used in All India Radio in
comparison to its maximum rated output

“POWEr 15 .
@ 1% 1]
m) 2%
€ 3% [:]
id)y 4 % =3

(d) S0 dB

4.

The normal gain of pre-amplifier used in
radio broadeast chain is about:

{a) 20 dB
by 30 dB
{e} 40 dB

-

Equalised line amplifiers are amplifier with:
fa) Adjustable gain
{b) Adjustable high frequency boost
(¢} Adjustable low frequency boost
id) All of the above

]
In 100 KW HMB 140 Medium Wave
transmitier, the crystal of the crystal oscillator
is kept in a oven to oscillate at a consistent
frequency. The erystal oven is heated at

(ay +5V
]

by =5V
ey +12V
(dy =12V

(15)

5

f.

i 30

The screen voltage of PA valve in 100 KW
HMB 140 KW transmitter is:

fa) 100V
by 400 V
ic)y 300V
(d) 800V

[l

Power consumption in 3 KW FM transmitter
operating at frequencies from 87.5 MHz 10
100 MHz s ; '

{a) S100 W
() B500 W :|
() 10200 W
(d) 17000 W :|

The Radio Network Terminal (RNT) located
at All India Radio receives ©

{a) Ku band transmissions
(b) Ka band transmissions
() C band transmissions
(dy  All of the above

L]
[ 1

In RNT, the passive frequency translaor
{FTP) splits the combined nominal IF
of 70 MHz into:

(a) 60 MHz and 80 MHz components[ |
ib) 62 MHz and 82 MHz components

{c) mhﬂ{zmmhﬂizmmpmﬁlsi: :

() 52 MHz and 92 MHz components
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13

In All India Radio, the half wave dipole or
Hertz acrial is used for:

(1) Medium wave (MW) fmquen:ioE
(b) Short wave (SW) frequencies | |
(c) Both (a) & (b)

(d) None of the above

The first FM broadcasting in India began on
23 July 1977 in:

fa) Delhi

{h) Calcutta
{c) Bombay
(d) Madras

Aundio level of CD and R-DAT is :
{a) =70 dBm

1 +70 dBm
{c) O dBm
(d) =20 dBm

00 oAy

In magnetic tape recording system, the comect
sequence of heads are:
(8) Record head, Erase head.

Replay head

(b) Replay hcad, Erase head,
Record head

fc) Record head, Replay head,
Erase head

(d) Erase head, Record head,
Replay head

i

The MPEG sl:m;iard known as MP3
{a) MPEG - 4 Layer 3

ity MPEG - 3 Layer 3
(cy MPEG = 721 Layer 3
{(d)y MPEG - 1/2 Layer 3

INNNs

14.

15.

16.

17.

18.

Ae) Pinono. 3 is always grounded

In a 3 pin XLR connector:
{a) Pin no. 1 is always grouanded
(b} Pin no. 2 is always grounded

{d) In fact grounding is not needed
in XLK

[ OO

The sensitivity of a microphone 15 defined
as ratio of electrical output (veltage) (o the -

(a} Intensity of sound input
(b} Loudness of sound inpu
{c) Pitch of sound input
{d)} Phase of sound input

The erystal microphone is:
{a) A low impedance microphone
(b} A high impedance microphone
ic) Also known as a moving
coll microphone
() Also known as a carbon ,
microphone

0000 o

The azimuth and elevation are angles which
specify the direction of a satellite trom a
peHnt;

(a) At the canh’s center
(b} On the earth's surface

{c) At the earth’s equator only
(d) All of the shove

i

By convention the polarisation is defined by
the plane of propagation of :

ta] Electric field component

{b) Magnetic feld component
(¢} Both electric and magnetic

]

field components
(dy Mone of the above

'—_-—-—-—.-:-l—-
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19,

21

O dimectional radistion pattern is obtained

by amanging the dipoles in the form of :

(2) Whip oy
(b) Slim Jim ]
(€) J-pole * :
(d) Tuenstile

From safety point of view, the angle between
a ladder and the floor should be :

(a) 20 to 30 degree

(k) 30 1o 40 degree

(c) 60 to 70 degree

(d) 80 to 90 degree

Fuse is placed in !

(@} Live conductor only
{by Neuiral conductor only
(c) Both (a) & (h)

(d) None of the shove

]
-

A standard First Aid Kit should he
maintained at each installations as
prescribed by,

(a} 5t John Ambulance Association
ib) Red Cross Organisation
(e} Central Electricity Board

]

(d} Any of the above

L

As per the running maintenance schedule
of a diesel engine. checkup of the Fuegl
Injection Pump should be done at -

(a} Every 50 Hours{Weekly)
(b) Every 100 Hours{Fortnightly) ]
(c) Ewvery 1000 Hours |

(d) Ewery 2000 Hours

24,

An air-conditioning system has to perform

the functions of

(a) Cooling and dehumidification
for summer conditioning

(b} Heating and humidification
for winter conditioning

(¢} Adr filieration and proper
ventilation the year round

(dy All of the above

|

In air-conditioning system, the saturation
pressure for R-22 corresponding to
temperature 85°F is :

fa) 5 Kpfem

(b) 7 Kgfem ]
(€} 9 Kglem |:
{d) 11 Kg/om :

-

|



wva, 11 fiem warEt @ gfd st (weis Wy W 2 st ¥, W w20 §)

I

8,

i

Q.

1k

1 WEETER wEf F e T W w5 I e yEia B miE e
TR B A s T UG ToE 1 R

uE UN FEEHRE § UF UH WEERE HETEE wfst s g
e e W ¢ s A dw # fem A o wie fEm e #

aR T A A feiee gfe W wE @ WIE T TR A R e
e B 2

ﬁwqﬁﬂﬁ?ﬂmﬁm’tﬂfnﬁﬁmmﬁmmﬁﬂf?ﬁﬂﬂﬂﬁaﬁﬂ
B 1 | - - R .. FE = R

T Ha A SEh o A safimat W wsie d
S % e T g Twm sifeaw da srgfdwmel W = e

TEA (FETE) FERIPIT soosrrccrmmmnmmsrrerrrnnssess w1 =i sl @ wie s 88

........................... i e A e, e o sl o wifre €9 o9 e da A
TRIYA i E

i wfel & fmfdn se § o R F FHA BT H ”
e sl B9 T

ot 7 ey T wA w {E wE
% fofee TR FEAFR A 9 A S F AR s i O i

ov 1L FreieiET wa i o) § O T () WS (W W S 2 36 §, o 3k 20 §)

&
L

T R U W R G v e e s € o e f sl
T W T TEE W T D SS9 T 3 i, BN A A w6 wE )

fopelt T g faflm @i § e il wies T2 e oW ) ( )
12 e wEEAET (i) fev v T gm AfE s T e

% HF e & A 5% e W U hE § wiE we f ( )
T A H T3 WEE TS IEET S { )
i FiE wEsEiE 3 faen e ® g 7 5 S

TEEIEH F WA B B LA

(20)
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Q. I11.

Fill in the blanks : (2 marks for each guestion, Total 20 marks)

9.

[{#8

State whether True (V) False (x)

(1]

(2)

(3

{4)
(3}

The carbon microphone operates by using the varying pressure wave of sound (o vary the
between carbon granules.

In FM transmitter, the FM modulated output is amplified by a pover
amplilier and then fed to antenna Yor transmission.

In BENT, the function of the demodulator unit is to extract the fronm
the sub carrier fed to it

The purpose of a ransmitting aerial is to convert the power delivered by the transmission
ling into a wave called an

A quarter wavelength disole aseial is often preferred at frequencics
and is used in medium 1uve frequencies in All India Radio.

Cardioid microphones are insensitive to sounds arriving from the

of a microphone.

A consists of a hollow brass sleeve, hollow ring and tip with
insnlation in beiween.

Recording console of a Music studio has more channels than a
console in talk studio.

A VU meter reads the value of the waveform,

A split air-conditioner has two parts namely ani

(2 marks em:l: qutstin:m. total 10 marks)

AM broadcasting offers several advantages over FM E.Lll'_‘h as tmiform day
and might coverage, good quality listening and suppression of noise,

mierference efc. { )
The wave radiated by an antenna consists of an electric field

companenl only, : )
12 f1. parabolic dish antenna collects the RN carriers iransmitted by the

satellite and feeds themn to the feed mounted LNA unii ( )

Pre — amplifier is the first amplifier in the broadeast chain,

The moving coil londspeaker and carphene are very similar in
constructicn to the moving coil microphone. { )

(21)
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Q-1 Draw circuit/symbols/iagrams for the following (2 Marks cach) 1 (Total 10 marks)

(1) Break and Make Jack

(2} Semiconductor diode [
{3)  Pentode valve
(4)  Signal source ‘ |
{5) Refrigerant (air-conditioning) eycle line diagram

Qv Write Full form of the following abbreviation (2 Marks for each) :  (Total 10 marks)
(1} CRO

(2} SMPS :

{3) ROM 5
4) OB

(23]
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PART-II(B) r
(BASIC OF TV BROADCASTING) :

{Total-100 Marks)

(% 1 This question contains 25 questions of 2 marks each.

Mark Cross E apainst the most appropriate answer

L

3.

Which one of the following activities doesn't
come under the Production Control Room
(PCR) : -
{a) Monitoring facilities for all the input and
output sources { audio and video))
(b} Video and audio switcher for
smooth switching t:l
(¢} Three or more cameras with
teleprompier
(d) Character Generator (CG) for
Titles and Credil captions

[ |

Camera Control Unit (CCL) 15 used for :
(a) Controlling video level
{b) Colour matching

(c) Both (a) & (b)

id)} MNone of the above

[ ]

Intensity of the light entering the camera
can be controlled by changing the :

{1y Focus of the camera

{b) Aperture (ins) of the camera

{c) Angle of view of the camera

{d) Zoom control of the camera’

[ ]
[ ]

View finder is part of:
{a) Camera Control Unit

{b) Charscter Generator
{c)  Video Distribution Amplifier
{d) TV camera

(25}

5.

7.

(50)

Which filter is used for vestigial sideband
shaping in VHF Low Power TV transmitter?

{a) LPF

{by HPF

(€} SAW filter

(d) Butterworth filter

-

Which type of VHF TV LPT anteana is
being used in Doordarshan Network:
{2) Band IIT BEL make, half wave

dipole V antenna
{b) Crossed folded dipole (urnstile)
HALIOS make Band 11 antenna
() Folded dipole (turnstile) SCALA
make Band 1 antenna

(dy All of the above

Impediance of SCALA make UHF TV LFT
paraslot (S1. - B) antenna is:

() 50 1
by 75

{c} zero ]__
{d) infinite I

The two colour difference signals, which are
used in practice arc.

fa) G-Yand R - Y
) B-% and G- Y
c) R«-Yand B -Y

{d) All of the above

L]
=
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1.

" {c) Hue and contrast

11.

12.

The blanking period immediately after the
active line is known as:

(a) Leading edge of sync

(b) Trailing edge of sync

(¢} Front porch

L]

(d) Back porch

Two terms used to describe colours are:

{a) Hue and saturation

{b) Brighiness and contrast

(d} Brightness and saturation

]

A luminance signal can be obtained by
sdding R, G and B in the proportion of:

(a) Y =03R +0.5G+ 028

{b) ¥ =02R + 0.6G + 0.2B

¢} ¥ =03R + 046G + 0.1B

id) ¥Y=02R +0.7G + 0.1B

How many active lines are in 625/50 PAL
system {in one frame);

fa) 500
(b} 525
(c) 575
(d) 625

[

The standard sampling rate in the SDTV is;

(a) 10.5 MHz |:

(b) 11.5 MHz
(c) 12.5 MHz

(d) 13.5 MHz

14.

15.

16.

17.

18,

(27)

SDI stands for;

(a) Sequential Data Interface

(b) Sequential Digital Integration
(¢} Serial Digital Interface

(d) Serial Data Integration

UL

Meodulation used in broadcast application of
the satellite communication is:

(a) ASK
(b) PSK
(¢} FSK
(d) QPSK

LI

Video signal carrying sync pulses, video
signal, and the subcarrier is known as:

(a} Component video
(b) Composite video
{c} Digital video
(d) Companding

Non-linear relationship between video signal
voltage and screen brightness is defined as:

(a) Kell factor

(b} Gamut

(c) Gamma

(d) MNone of the above

Y
.

What is the frame rate in Doordarshan TV
broadcasting standard:

(a) 25 frames/sec
(b) 50 frames/sec
{c} 30 frames/sec
(d) 60 framesisec
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19, Omni directional radiation pattern is obtained

(d} BO to 90 degree

by ammanging the dipoles in the form of:

{a) Whip |
L]

{b) Slim Jim
{c) 1 - pole
{d) Turnstile

From safety point of view, the angle between
a ladder and the floor should be:

(a) 20 to 30 degrec
{b) 30 10 40 degree
(¢} 60w 70 degree

[

Fuse 15 placed in:

{a) Live conductor only
(b) Meurral conductor only
(c) Both (a) & (b)

{d) MNone of the above

A standard First Aid Kit should be
maintained at each installations as prescribed
by

(2) St John Ambulance Association

(b) Red Cross Organisation
{¢) Central Electricity Board
{d) Any of the above

23.

{a) Every 50 Hours(Weekly)

 {c) Ewery 1000 Hours

As per the unming maintenance schedule of
a diesel engine, checkup of the Fuel Injection
Pump should be done at:

{b) Ewvery 100 Hours(Fortnightly)

(d) Ewvery 2000 Hours

In order to satisfy the stipulated requirements,
a complete air-conditioning.system has to
perform the functions of :

{a) Cooling and dehumidification

for summer conditioning

(b) Heating and humidification for
winter mndiﬁuning

{g) Air filteration and proper
ventilation the year round

(d) All of the above

]

In air-conditioning system, the saturation
pressure: for R-22 corresponding Lo
temperature 85 is:

(a) 5 Kgfem
(b} 7 Kgfem ]
(c) 9 Kg/em
(d 11 Kgfem ]
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. IL

Fill in the blanks : {2 marks for each question, total 20 marks}

|.  Three dimensional effects in TV studio are created by special lighting, called as
lighting.
2. Bamn doors are added in light fittings to the illumination to specific
3 is very helpful for emergency arrangements during breakdowns and
trouble shooting in a video chain
4. A satellite coverage area is defined as
5, A higher pixel count on the of a TV camera indicates sharper image.
6. Waming Boards should be placed by the on all switch gear before men
are permitted to work.
7. High voltage mica and paper capacitors removed [rom circuits must be kept properly
till they are put back in circuit again.
8 Colowr temperature of Tungsten filament lamp used in TV studio is
Kelvin.
9, A lens with a variable focal length is known as lens.
10, A split air conditioner has two parts namely and
State whether True (V) False (x) : (2 marks each question, (otal 10 marks)
I, In optical block of TV camera, beam splitter splits the incoming light
into three beams, 1.2 Juminance, red and Blue, { )
2, OBs may be of two,types: (a) Live Broadcast (b) Prog. Recording. i j
3. The Charge Coupled Device or CCD chip as it is called is the heart of
the digital video camera. { - 4
4. DV recording format made by Sony is DVCFRO. ( !
5. For work of RF circuits, rubber gloves shall not be used
as they give a false sense of security, | )

(31)
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Q. IV.  Draw drcuit/symbolsDiagrams for the following (2 Marks each) (Total 10 marks)

1. Yagi Antenna |

2. Zener dim:le'

3.  NPN transistor |
l
|
I

4. Crysial |
|

5. Half wave dipole acrial )

(33)
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1.

Write full form of the following abbreviations (2 marks for each) :  (Total 10 marks)
SPG
CCVS I
IRD
ENG
ADC

(35)
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PART-1 (Compulsory)
BASIC PRINCIPLES OF ELECTRICITY AND ELECTRONICS

{Total=100 marks)

(). L This question contains 25 questions of 2 marks each.

Mark Cross E against the correct answer. =]
1.  Megger is used for testing of insulation, 8.  VYacuum tubes are used in :
because ) )
(a) A multi-meter cannot measure (a) Satellite earth stations I:I
high ‘resistance D (b) Very low power transmitters m
(b} A multi-meter cannot measure {e) Low power transmitters [:I
as accurately as the megger I I . ;
(c) A megger measures the insulation (d) High g e |:I
at much higher voltage - -
5 & D 6.  Inacommon emitter amplifier, input signal is
(dy None of the above EI applied between
2. Star-Delta starter 15 used to start () Collector and Base ]
(a) Three phase induction motor f:[ (b) Base and Emitter
(b} Single phase induction motor D (c) Emitter and Collector
()] D.C. motor D {d) All above are correct |:|
{d) Slip ring motor D
7. FET is used where
3. inci .
;I-":'anr.f::nrnmrs work on the principle or law (3) Very low power signals are to
{a) Ohm's law D amplificd Ij
{b) Kirchhoffs law [:] {b) High power signals are to HmpllflE'-dD
{c) Right hand rule of electromagnetic {c} Low frequency signals are to amplified
induction |:| |:|
{d) Faraday's law of Mutual induction D {d) d.c. supply is not availuble D
4. In a tansformer if de, voltage is applied to
primary winding 8. If an electrical load is supplied with 100 Volts
{a) Very small voltage will appear and it draws a cumrent of 5 A at 0.9 Power
scross the secondary winding D Factor. The load consumes power of
(b) No voliage will appear across {2) Approx. 500 Watts =
e scoandary winding [] (b) 450 Watts i
(c) Very large voltage will appear
across the secondary winding D fe) 555.5 Wats |:|
(d) Primary winding will draw very heavy (d) None of the above [ ]
current and transformer will burm I:I
(3)
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10,

11.

12.

Which of the following expresses power in a
d.e. Circuit ?

(&)

(b VisR

[c)

(d) All the above

Voul

ExR

Which of the following expresses real pow

in an ac, Circuit 7

(&)
{h)
(el

(d} None of above

KVA
kKYAR
kW

0000 ¢ 0000

Basically a resistance is used in a circeuit for -

(a) Reduction of current in the circuit | B |
{b) To drop voltage =
(c) To consume extra power available
in the circuit ]
(d) (a) and (b) are true ]
In the circuit shown below -
II m
ALY
Wi
LF ]
¥ A
k e 1
&Y
=
{a) Current I; is more than current I, [ ]
(b) Current I, is less than current L[]
fc] Current II 15 amost equal to current L .
(d) All above are true ]

(5)

13.

e
-

15,

I6.

Three condensers each of 3 pF are connected
in series Total capacitance of the combination
will be

(a) 9 pF []
{by 1/9 uF ]
(€) 3 uF =3
(dy 1| pF [

For the circuit given below, resultant vollage
across the terminals A & B shall be
1.5V 1.5
__] |_._| —
B
f—ili

A
—

(3) 3V |:|
(b) 45 ¥ [:I
(c) 6V [
(d) 9V D

In a three phase 4 wire system

{a) Phase voltage = Line voltage + 3 ]
(b) Phase voliage x /3 = Line voltage [ ]
(¢} Phase voltage + /3 = Line voltage :f
{d) (a) and (b) are correct ]
Colour bands (in proper sequence) of a carbon

resistance are Red, Violet, Black and Bilver,
Its value and tolerance is

(a) 272 Q and 20%
(b) 270 £2 and 10%%
() 27 k Q2 and 10%
(d) 272 k Q and 5%
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17.

19,

21.

In 12 Violts Lead-Acid Battery, in full charged
condition, ils open circuil voltage shall be

(ay Less than 12 Volts
(k) Exact I2 Volts

(cy More than 12 Volts
id) Mone of the above

Sotar Cells are used in

(2} Torch lights

(b} Solar panels to charge battery of
Inverters system

ic) CD players

000 0 0ood

id) Computers

A full wave (single phase) bridge rectifier uses:
(a) one diode
(b} wo diodes
ic) four diodes
(d} six diodes

HE/NN

Semi conductor material used for making

diodes and transistors ete. are made from the
following material:

{a) Conductors mixed with insulators I:I
(b) Conductors mixed with carbon [ |

(¢} Pure Germanium and Silicon ]:!
(d) Germanium and Silicon mixed with
other materials |:|

In a d.c. power supply, condensers and coil
are used for filtration, Thelr actual function 1=

[]
]
L]
L]

(a]) To maintain proper sing wave
{b) To reduce a.c. components
{c) To reduce dc. components
(d) All the above

(7)

22.

24,

25.

Electric wiring is always done in ;
(a) Series & parallel combinations
(h) Parallel

(] Series

{d) All the above

[_]
[]
]
=1

Ameters measure current and Volt meters are
used for measurement of voltage. Which of
the following statement is true about the
meters 7

(@) Both Ameters and Volt meters

are connected in paraliel

[}
[]

ic) Ameters are connected in series and Volt

(b} Both Ameters and Vol meters

are comnecicd in series

meters are connected in parallel [::l

(d) Ameters are connected in parallel and Volt

=

Earth resistance of a good earth should be
less than

melers are connected in series

(a) 4 £} I:I
by 20 |:|
(e} 16 |:'[
(dy 0 Q2 |:[

A standard multi- meier measures the
following electrical gquantities:

" (a) Power, Voltage, Current and Resistance I:_!

(b) Voltage, Current and Resistance

L]

L]
[]

{c) Woltage., Current, Resistance and

Power Factor

(d) All the ahove
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Q. IL

Fill in the blanks : (2 marks for each question, Total 20 marks)

I. Term Impedance is used in circuits and it is measured in
{unit).
2.  Reactance of an inductor with increase in frequency. But in case of
a capacitor, Reactance with increase in frequency.
3. Basically a capacitor tries to block current and pass
current.
4, diode is used for vollage regulation and photo diode is used for
3. In a transformer lower current is carried by the winding which has
number of turns.
6. There are P N junctions in a transistor.
1. There are several types of satellites used for communication. But AIR & DD use the
scrvices of only type satellite for relay of programs.
8. In a common emitter amplifier, amplified output signal is available between
& terminals.
9, If two resistances of 47 k £ 7 each are connected in parallel. Their equivalent resistance
is equal to £l
10, IF 10 volts are given to a resistance of 5 £, it will consume Watts.
State whether True (/) OR False (x) : (2 marks for each question, Total 10 marks)
. If one phase of & 3 phase (running) motor fails, it will continue to run. | )
1. Inductance is measured in micro farads. { )
3, Class A amplifiers are not used for amplification of R F frequencies { )
4. An oscillator circuit is basically consists of a tuned circuit, amplifier and
a -ve feedback circuit. { )
5.  Copper is the best known conductor of electricity. { )
(9)
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Draw circuit/symbols for the following (2 marks for each) :

1.

Write full form of the following abbreviations (2 marks for each) :

1.
2,

Selector swiich.

Tetrode YValve,

OF Gate,

Step up transformer.

FNP Transistor.

FBT

SCR

(11)

{Total 10 marks)

(Total 10 marks)
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PART-II
Choose either Part II—(A) or Part

[1-(B) and answer al]
questions in the part chosen (100

Marks for each part).

(13)
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Q. L

1.

PART-II (A)

BASIC OF RADIO BROADCASTING

{ Total-1(d} marks)

This question contains 25 questions of 2 marks each,.
Mark Cross E against the correct answer,

A singie phase A C Fan motor uses a capacitar
for

{a) Improving power factor of the mﬂluﬁ
drawing leading current
{h) Splitting one phase into two phases
at the time of start D
{c) Reduction in ron losses %

{d) Reduction in copper losses

Which of the following types of transformers
15 used for mast lighting?

{a) Step down Transformer D
(b} Isolation Transformer |:|
(c) Auwsin Transformer E

(d) Mo Transformer is regquired

A limiter (amplifier) is used in transmitters to: -

(@) Improve signal to noise ratio of audio

=

[ ]
[ ]

If carrier frequency of a SW transmitter is 3
MHz, its 4 {wawve length) will be
(a) 30 m

(b) 300 m

(cy 100 m

{d) 1000 m

received from stwdio
(b1 Avoid ever modulation

() Avoid sparking in FA
id} limit the band width

00O

(15)

5.

(500

After maintenance of Antenna and ATU, the
transmitter trips on applying HT. Which of
the faults / problem you will suspect
immediatly

(a) Some guy-insulator has cracked D
(b} Tuning ATU got disturbed

ic) Forgot to remove any of the Earth

Eods or knife swiich

(tf) Break in transmission line

]

Full form of YSWR s

(a) Voltage short wave ratio
(b) Voltage standing wave ratio
(c) Variable standing wave ratio
{d) None of the above

OO0 O

Terms like PDA. aximuth and clevation are
related with

L]

ta) Satellite communication
(b) Radiation from a Short wave antennD
{c) CTE head alignment sysicm
(d) C D Plavers

[

In a HPT, all the sparc HT Filter condensers
are kept in

{a) The technical store of the Lraumniur:rD
by Spare equipment room of the I:l

tramsmitter
]

(c) HT Enclosure
{d) May be kept anywhere as per
requirement bul with terminals shorted D
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11.

12,

Which of the following frequency bands is
not used by AIR for radio transmission?

(o) Medium Wave
(b} Short Wave
{c) VHF

(d) UHF

Qoo

Audio Output of a dynamic mike is
approximately

{a) —20 dBu
(b} +20 dBu
{c) =70 dBu
(d} +70 dBu

HiN{nIN

For sound recording, a c:unci;::mcr mike
{a) Can be used only in studio
(b} Is designed only for OB
ich Can be used both in studio and
OB, if phantom supply is nvaitahleD
(d) Can be used both in studio and
OB, if wind shield is available [

B
3

Now computers are used in place of CTRs
for sound recording. Its advantage is

(a} Less distortion

{b) Reduction in noise

{c) No degradation in sound quality
with time

{d) All the above

Ud dd

(17)

13, Audio levels arc measured by

14.

15.

16,

{a) VU meters
(b) Both VU and PPM meters

{q} dB meters

b E T

{d) dBu meters

Which of the following is the impedance of
audio cable 7

(2) 50 Q ]
(b) 75 Q ]
() 200 ﬁ ]::|
(d) 600 Q ]

In a3 pin XLR connector

(2) Pin no. | is always grounded

{b) Pin no. 2 is always grounded

{c) Fin no. 3 is always grounded

(d} In fact grounding is not needed
in XLR

0 00

R N Terminals are used to relay the programs
uplinked by

(a) Broadcasting House, New Delhi
(b) State capitals

(c) All uplink smations of AIR

(d) All the above

oo
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17. [If by mistake petrol is filled in a fuel tank of  22. Capacity, of a battery is given in terms of
newly installed diesel generator :
ia) The diesel generator will not start D
ik} The dicsel generator will start and (b) kVA
stop after some fime
{c) The diesel penerator will start and
work at low power |:| {d) Ampere Hours
{d) The diesel penerator will start but
it will not take load

fa) Watt and kilo Watt

(e} Volt Amperes

Hinjnin

23. Diameter and thickness of a CD e

18.  Air Conditioning s used for () 200 mm and 0.8 mm
{2 To mamtam comfortable u:mpcraturD (b}
(b} To mantain comfortable humidity [____|
(¢} To maintain comfortable air-flow :l

(d) All the above El {d}) Mone of the above

120 mm and 1.2 mm

(¢) 240 mm and 1.2 mm

000

19. If cooling capacity of the AC Plant has g4,
decreased, the reason may be

Power supply 18 given o computer through
anf UPS. I actual function is to
{a) Dirty air [liers : .
! : (a) Provide d.c. power from the
(b} Choking in cooling coil
H!fl’!!‘.l]al h.'llll!'tr"_'.' [y rh.l:: I_"i.'ll'l."lrlllh:"l'
(¢} Leakage of gas
id) All the above

when main supply fails

RN

{b) Provide ac. power o the computer

) ; : after 1 second. when main supply
20, In a oil Alled wansformer, function of o1l is A

ia} Cooling s
{c) Provide a.c. power to the computer

(b} Insalation : : !
without any interruption when

(¢} Lubrication

main supply fails
{d} Both (a) & (b)

(dy All the above are correct

000
0 O O

21. 3 phase full wave power rectifiers arc

commonly usad in 25, Connectors RJ-45 are used in

ta) HPT i:! - (a) Telephone connections l:l

( YL

o) VLFT D (43 l'.'."u-mpu!.t:r nelworking D

(c) CTE and ¥YTR | - .
(d) All the above (c) RF connections |:[

(d) BN Terminal

(19)
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Q. IL

Fill in the blanks : {2 marks for each question, Total 20 marks)

1.

If camier frequency of a transmitter is 98.6 MHz, it should be a =

Transmitter.
2. Terms CAT 5 and CAT 6 are related with cables.
3. Half wave dipole antenna is used for frequencies.
4.  Underground armored power cables are sheathed by to protect
3. Now in place of CCL, is used to clean carbon / dust deposits on
contacts and connector etc.
6. A split air-conditioner has two parts. The indoor part consists of cooling coil and
The outdoor part consists of compressor and
7. The helical feed in a PDA of R N Terminal converts Into
signals.
8 A fuse wire should have resistance and
melting point.
9, Recording console of a Music studio has more channels than a
console in talk studio.
10. Audio frequencies lie between to
State whether True (/) OR False (x) : {2 marks for each question, Total 10 marks)
|. Separale earths are provided for audio equipment and electrical machines.
But both the Earths are joined together to have perfect earth, ( )
2. In a diesel generator il oil pressure decreases, temperature of Diesel
EeNeralor INCTeases. { j
3. In a window Air-conditioner, for cooling of condenser, cool air is provided
by ¢cooling coil of the Air-conditioner [ j
4. In FM transmitter, the power of the transmitter does not change with change
in modulation. i )
5. A CTR can record programs directly received from & moving coil mike. |

(21)
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Q. 1V.

LA

Draw circuit/symbols for the following (2 marks for each) :

ks

Shielded wire,

Trinde valve,

Repeat coil,

Headphone.

Amplifier,

Write full form of the following abbreviations (2 marks for each) :

1.

2,

3

ATU
LNBC
LIT

(23]

(Total 10 marks)

(Total 10 marks)
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PART-II (B)

BASIC OF TV BROADCASTING

{Total-100 Marks)

Q. L. This question contains 25 questions of 2 marks each.
Mark Cross E against the correct answer.

I.

A single phase A C Fan modor uses a capacitor
foar

(a) Improving power factor of the
mator by drawing leading current D
ib} Splitting one phase into two phases
at the ume of start
i€} Reduction in iron losses

(dj Reduction in copper losses

Intensity of light s measured in?
fa} LUX

{b) Lumensim*

(c] Mega Pixcls

{d) (m)} & (b) above

nood  Ooo

Back light is used in TV Studio to

{a) Control the light contrast by
filling in shadows

(h) Separate persons from background
and expose background intenest & shape EI

fc) Increase brightness

(d} Decrease brightness

[

[0

If frequency of a RF Wave is 300 MHz its A
{wavelength) will be

fay 1 m

(bl 10 m
(c) }0m
(d) 300 m

IN NN

Eh “l:l'
Tried

(25}

-

Ve

{50)

In HFT (TV)

{a} Vision and sound carriers are
modulated and amplified separately
but combined in dupleser ]

{h) Vision and sound camiers are
modulated and amplified separately
and combined in Driver amplifier |:|

{c) Vision and sound camiers are
todulated and amplified jointly
but s.parated by Channel filter

{d) None of the above is comrect

[]
L]

VSWER meters indicate
(o) Humidity present in a transmitlers |:|
(b} Voltage standing wave ratio of the

-
=3

Reparding a TV LPT which of the following
statermwenis ™ correct 7

transmission line

(c) Volinge standing wave ratio of
Power amplifier

id) MNone of the above is correct

() Sound and Vision are modulated

separately but amplified jointy, D
(b} Sound and Vision are modulated

=
]

Jointly but amplified separately,
{c), Sound end Vision are modulated
in modulator.
(d) Sound and Vision are amplified in
channel filter.
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9,

1.

11.

12.

I a oil filled ransformes, function of oil is

]
L]
L]
]

Which of the lollowing frequency bands is
used by Doordarshan for TV ransmission?

{a) VLF Band ]
(b) HF Band [ ]
(¢) VHF & UHF Bands [ ]
W) C & Ku Bands ]

fa) Cooling

(b) Insulation

{c) Lubrication
(d) Both {a) & (b}

Audio output of a dynamic mike is of the

order of

(a) -20 dBu
(b) +20 dBu
(c) =70 dBu
(dy +«70 dBu

L]
L]
]
]

Which type of antenna is not used with TV
Transmitiers ¥

(a) Crossed folded dipole

(h) Yagi - Uda

(c) Slotted type

id} Dipole antenna clements arranged
m turnstile

0 Ood

In video recording, frequencies involved are
(a) 20 Hz o 20 kHz
(b) 20 Hz to 5 MH=z
(¢} 200 Hz to 5 MHz
{d) 2000 Hz to 5 MHz

LO00

(27)

1M

14.

15.

16.

Which of the following is the impedance of
video cable 7

(a) 500
by 75
(c) 120 0
id) 200 Q

a0oo

In a 3 pin XLR connector

{a) Pin no. | is always grounded
(b) Pin no. 2 is always grounded
{c) Pin no, 3 is #lways grounded

(d) In fact prounding is nol neaded

0 oo

in XLE

BMNC connectors are wsed (0 connedl:
(a) Balance audie cables
(b} Coaxial cables

(c) Computer cables

aoog

{d) Electric power cables

If by mistake petrol 15 filled in a fuel ank of
newly installed dicsel generator

(a) The dicsel generator will not start ]:l
{(b) The diesel gencrator will start and

i),
]
]

stop after some lime

() The diescl generator will start and
work at low power

(d) The diesel generator will start but

it will not ke load




17.

19.

0.

TR wEWHT w1 I fEm am
(%) T & Sy W e &
(@) s B ARPET T T F
(M) =Y F T w ST T,

= # fem ]
(9) wfwm ot = fam []

HAIETA WA F Yiae eew W g e #
THH FHO B A R

(%) o fraice (Foee) it g [ ]
(@) ¥ieer o smwe B o [
(n) | i B

(") Ivfsr wwt

qe T HA-E 7

(%) o, 9en a7 e

(@) =, Jn &/ o

(M) =, dten s e

(=) =, dten &R wren

3 WA T oW e st e
=l o e o & -

(%) T

(@) ELuELdLEL

() HLASW e @dam

(7)) s9gF [t

Heit F wmm Freafatas wiwfes T
= A e

(%) mr #iv fremme
(®) FHT

() Hee weEli
(%) T 52

0000 # 0000 OO

.

Loono

22, S whafa w ol R

23

24.

25,

(28)

(%) feditem Tieme foos
(=) TEdtem w@ifzw foe
(m) fediew Sivae foe
(%) IvmA (F) 3R (=)

woE & fom fom v gdtem €

w1 a1 v Awas = 3

(F) " 98 9wm %9 7 9 &
T T W A A=
# Bt faem owem s

(@) g7 7ol 9w 5 o @
T TH HRE F AT wg
w TH, fa wE =

(M) W qmm v ww W ww
™ = e F v g
TE F

(9) Ivgw @t wet &

= wmo = I ww €7
(%) Siwzan o = v =51

mﬁﬁmmﬁﬁﬂmﬁﬂﬂim
(@) w v fom W oW e gem #

]
[ ]
[ ]
L]
W

L]

[]
]

™ TR SwfEn e # X
(M (%) &R (=) <A ]
(%) 9w & W []

w0 # frefafon § 9§ st a0 wm £ 2
(%) whfies wfafaes =1 @i
famm o =aiamm D
(@) fowem feang =1 o9 s W
TR gfateE 5T
(m) dHitEs fams w5 5
ey, FiE TR
WY {wEtEm)

(]
(7) vfw w ]




17.

19.

21.

Air Conditioning is used for

fa) To maintain comforable tcmpm'atm'eD
(b} To maintain comfortable humidity D
(¢} To maintain comfortable air-flow :I
id) All the above D

If cooling capacity of the AC Plant has
decreased, the reason may be

(a} Dirty air filters

(b} Choking in cooling coil
{c) Leakage of gas

{d) All the above

The primary colowrs are
(a) Red, Yellow and Blue
(b} Red, Blue and Green
(c} Red, Yellow and Green
{d) Red, Yellow and Black

nood  ddoo

3 phase full wave power rectifiers are
commonly used in

{a) HFT
{b) VLPT
{c) CTR and VTR
{dy Al the above

NN

Capacity of a battery is given in terms of
(a) Wait and Kilo Watt
(hy kVA

{c] Volt Amperes

NN

{d) Ampere Hours

(23)

22,

23.

Full form of DVD is

(a) Digital Versatile Disc
{b) Digital Video Disc
(c) Digital Variable Disc
{(d) (a) & (b) above

0000

Power supply 15 given to computer through
an UPS. Its actual function is 1o
(a) Provide dec. power from the
internal battery to the computer
when main supply fails. |:|
(b) Provide ac. power to the computer
after 1 second, when main supply fails, D
(c) Provide a.c. power to the
computer without any interruption
when main supply fails. D
(d) All the above are comect, D
CCD Cameras use

(a)} Semiconductor devices that convert

L]

light into a charge image
{b) Materials which emit electrons when
light falls on them
{c) Both {a) & (b)
(d) Mone of the above

L0

Which one of the following functions takes
place in Camera?

(a) Conversion of optical image

[]

{c) Processing of output of a
transducer to get a CCVS signal ||
(d) All the sbove ]

into an clectrical signal

“(b) Forming optical image on the face

plate of a pickup device
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0. 1.

Q. 1L

Fill in the bianks : {2 marks for each question, Total 20 marks)

. The aspect ratio of a TV Receiver is

2. Ina TY Receiver Ghosting phenomenon takes place due 1o

3. Audio frequencies lie between to

4, For UHF TV Transmitters — Iype of antenna is used,

. Underground armored power cables are sheathed by - ___ o protect

6. A split air conditioner has two parts. The indoor part consists of cooling coil and

The outdoor part consisis of compressor and

The helical feed in a PDA of Beceive Terminal converts

Inio sipnals.

B A fuse wire should have resistance and

melting point.

9,  Now in place of CCL, , is used to clean

carbon ¢ dust deposits on contacts and connector etc

10, Dehydrator is always used in a FM & TV Transmitter, its function is to

State whether True (/) OR False (%) ¢ {2 marks for each guestion, Total 10 marks)
. Channel filter and directional coupler are not used in a LPT (TV). i }
2 Range (distance} of TV transmission is limited by line of sighl i }

3. In a window air conditioner, for condenser cooling, cool air is provided by
cooling coil of the air conditioner. : i }

4. In a TV transmitter, audio is frequency modulated and picture is amplitude
modulated. i }
5. In a diesel generator if oil pressure decreases, temperature of diesel generator increases.
{ }

(31)
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Q. IV

Draw circait/symbols for the following (2 marks for each) :

[. Shielded wire.

- —.{:} s ,}__ 8

1. Speaker.
.
3, TV Camera.
- r —r I
7 e o8|
\ FA'

4. Headphone.

5. Amplifier.

(33)

(Total 10 marks}
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Write full form of the following abbreviations (2 marks for each) : {Total 10 marks)

I, VOO
2. VLPL
1. LIPE

4. DTH.
3. PLL

(35)
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Part — I (Compulsory) _
BASIC PRINCIPLES OF ELECTRICITY & ELECTRONICS
(Total-100 marks)

(. I. This question contains 25 questions of 2 marks each.

Mark Cross @ against the correct answer. . (50)

1.  When cells are arranged in parallel 5. Diodes are semiconductor devices that

(a) the current capacity increascs (a) permit current in only one direction

]

(b) the current capacity decreases

@ th £i (b) permit current in both the direction
c e e.m.f increases

() tie cHLf decyeants (¢) do not permit current in bot

directions
(d) None of the above

2. Heat sink results in
(a) slower dissipation of heat to

atmosphere

(b) faster dissipation of heat to 6. “HRC" in Fuses denotes

(a) High Recurring Current
(b) High Radiation Current
(c) High Rupture Current
(d) High Rating Current

atmosphere
(c) lower ambient temperature

(d) lower transistor power

000 0 Oobd
[

3. Which of the following is not recognised as
an effective means of earthing? 7. The output of a rectifier is

(a) 60-Hz a.c.
(b) Smooth d.c.
(c)  Pulsating d.c.
(d) 120 Hz a.c.

(a) Water pipe
(b) Cable Sheath
(c) Protective multiple earthing

0000 0004 O

HEnn

(d) Earth leakage circuit breaker

4. If a motor frame is found to be exceptionally 8.  If in a circuit, the voltage is reduced to half
hot; which of the following is the least likely and resistance is doubled, the current will
to be the cause become
fa) Insufficient internal ventilation [:l (a) four times :I
ﬂ-::)' Excessive ambient temperature :| (b) double I:’
(c) Excessive loading |:| {c) a quarter I:]
(d) Faulty starter [ ] (d) half [ ]

(3)
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10.

12.

13
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(") Standard Wire Group

(&) Short Wave Generator
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12.

13.

A low voltage, such as 12 V
(a)

(b)
(c)

is never dangerous

is always dangerous

is dangerous if it is a.c., but not
if it is d.e.

can be dangerous under

certain conditions

(d)

1 0 00

If a battery is connected across a p-n junction
with P-type to the negative terminal and
N-type to the positive terminal, the junction
is said to be

(a) direct biased D
(b) Tteverse biased ]
(c) forward biased I:
(d) unbiased D

Given two equal resistances. How man
combinations of these two resistances can
made in order to change its value ?

g =

(a) Three I:
(b) Four |:]
(c) One D
(d) Two |:l

In class-A operation of an amplifier, the
current flows through the active device for

(a) whole of the input cycle
(b)
(c)
(d)

half of the input cycle
more than half of the input cycle
None of these

“SWG" means

(a) Standard Wire Gauge
(b)
(c)
(d)

Satellite Window Guard
Standard Wire Group

DO Hoon

Short Wave Generator

(3)

14.

16.

17.

18.

The principal semiconductors are

(a) Copper and Aluminium :]
(b) Iron and Steel ]
(c) Germanium and Silicon D
(d) Gold and Silver [ ]

The material commonly used for sheaths of
underground cable is

(a) Copper I:l
(b) Lead |:|
(c) Steel D
(d) Rubber [ ]

Main parts of the regulated power supplies
are

(a) Transformers I:l
(b) Rectifiers and filters ]
(c) Regulators |:|
(d) Al of the above (]

Failure of one of the three phases of supply
to an induction motor will cause

(a) overheating of the motor
(b) change in the direction of rotation :l
(c)
(d)

]

increase in the motor speed
both (b) and (c)

L]

The minimum requirements for causing flow
of current are

{a) a voltage source, a resistor and a

switch I:]
(b) a voltage source and a conductor I:]
{c) apnwersmn'm,abiﬂhandafuwl:—l
(d) a voltage source, a conductor,

an ammeter and a switch

[ ]
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19. When a portion of resistance element of a

20.

21,

22,

heater gets burnt and that portion is removed.
If remaining portion is reconnected to the
same supply, the power drawn

{a) increases [:
(b) decreases ]
(c) remains unchanged I:l
(d) initially decreases & then

iﬁ;:re;fs:; o

Pe{rol‘ei.l_m jelly is applied to the terminals of
the lead acid battery in order to prevent

{a) Cm'msiun_

(b} Local hea-[ing
(c) Short-circuiting
(d) All of these

A capacitor consists of two

(a) conductors separated by an
insulator called the dielectric

(b) ‘insulators separated by a
conductor

(c) insulators separated by an air
medium only

(d) conductors separated by air

[_]
[ ]
[]
]
[ ]
s
]
medium only l:l
A circuit has a battery of 3.0 V and a bulb
with a resistance of 12.0 ohms,
current through the bulb will be

(a) 36 A ]
(b) 40A ]
(c) 250 mA |:|
d 25A ]

)

23.

24,

25

Supplier’s fuse is provided in domestic wiring
system

(a) after the energy meter Ij
(b) before the energy meter [:’
(c) before distribution board I:!
(dy after main switch D

The output electrode of a bipolar transistor is
usually the

{a) Collector D
(b) Gate ]
(c) Base I:
(d) Source |:’

While using a transistor as an amplifier
(a) the collector junction is forward biased
and emitter junction is reverse biased

]

(b) the collector junction is reverse biased
and emitter junction is forward biased
(c) both the junctions are forward :l
biased I:]
(d) both the junctions are reverse
biased [
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Q. II.
(a)

(b)

(20)

Fill in the blanks :

1. A cell that cannot be recharged is called cell.

2. A P-Type semiconductor is electrically

3. The capacity of a battery is expressed in

4, 100 micro farad (uF) is equivalent to pico farad( pF).

5. The electric device which blocks d.c. but allows a.c. is called

6. are used as current limiting devices.

7.  When you are going to measure an unknown voltage you should always start with the
meter on the voltage setting to prevent damage to the meter.

8.  Inan n-p-n transistor , the emitter current is slightly than collector
current.

9.  Workshop cable is core cable.

10. A room heater takes 5A at 250 V, its power rating is kW,

State whether True OR False: (10)

1.  Bridge rectifier is a combination of 4 diodes. ( )

2. The higher the Gauge size means higher the wire size and smaller the resistance of the
wire for any given length and of higher gauge size. ( )

3. In lead acid battery, separators are provided to reduce internal resistance. ( )

4, If two lamps 100 W and 40 W are connected in series across 230 V a.c. supply, 100 W
lamp will glow brighter. ( )

5. In a three pin power plug, the size of earth terminal is thicker to provide easy connection.

( )

)
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Q. IIl. Draw circuit/symbol of the following : (10)

1. 10 k-ohms carbon resistance with colour code.

2. Iron core transformer.

3. Amplifier.

4,  NPN Transistor,

5. Tube light circuit with protective fuse.

Q.IV. Write full form of the following abbreviations with reference to Electrical/Electronics system :

2 . - e S L o s e e e e
B AR e R R R R R e R
LR, . 7 : SOV UUU NN U USSR S S NP TO SN T
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(12)



PART -1I

Choose either Part II-(A) or Part II-(B) and answer all
questions in the part chosen (100 Marks for each part).

(13)
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Part-II (A)
BASIC OF RADIO BROADCASTING
(Total-100 marks)
Q. I. This question contains 25 questions of 2 marks each.

Mark Cross E against the correct answer. (50)

1.  The electrolyte used in Lead-Acid battery is 5.  The diameter and thickness of a CD are
(a) concentrated Hydrochloric acid D (a) 6 cm and 1.2 mm

(b) dilute Sulphuric acid (b) 6 cm and 0.6 mm

{c) concentrated Sulphuric acid (¢) 12 em and 0.6 mm

(d) dilute Nitric acid (d) 12 cm and 1.2 mm
2. Cardiod microphone is a 6. An UPS contains

(a) Bidirectional microphone (a) Rectifier

(b) Directional microphone (b) Inverter
(c) Omni-directional microphone

(d) None of the above

(b) Either Rectifier or Inverter

qootd ol

(d) Both Rectifier and Inverter

3. The most commonly used microphone for
public address system is

(2) Carbon
(b) Crystal

(c) Moving coil

7.  MP3 represents
(a) Acoustic quality
(b) Sound compression standard
(c) Multi pins connector

(d) Condenser (d) Multiple pad having 3 inputs

4.  The decibel (db) is a unit of 8. RAMs are used in

fa) Relative Power (a) MW Transmitters

(b) Voltage {(b) SW Transmitters

(¢} R.E Power (c) Audio work stations

0ooo  oooo  oood  bdbd

ooon  oobd

(d) Current (d) Window A/C units

(15)



Part-II (A)
BASIC OF RADIO BROADCASTING
(Total-100 marks)

Q. I. This question contains 25 questions of 2 marks each.
Mark Cross E against the correct answer. (50)

1. The electrolyte used in Lead-Acid battery is 5.  The diameter and thickness of a CD are
(a) concentrated Hydrochloric acid D (a) 6 cmand 1.2 mm

(b) dilute Sulphuric acid (b) 6 cm and 0.6 mm

(c) concentrated Sulphuric acid (¢) 12 em and 0.6 mm

(d) dilute Nitric acid (d) 12 cm and 1.2 mm

2.  Cardiod microphone is a 6. An UPS contains

(a) Bidirectional microphone (@) Rectifier

(b) Directional microphone () Inverter
(c) Omni-directional microphone

(d) None of the above

(b) Either Rectifier or Inverter

qootd  otd

(d) Both Rectifier and Inverter

3. The most commonly used microphone for
public address system is

(a) Carbon
(b) Crystal

(c) Moving coil

7.  MP3 represents
(a) Acoustic quality
(b) Sound compression standard
(c) Multi pins connector

(d) Condenser (d) Multiple pad having 3 inputs

8. RAMSs are used in

{a) MW Transmitters

4.  The decibel (db) is a unit of
(a) Relative Power
(b) Voltage (b) SW Transmitters

(c) R.F Power (c) Audio work stations

ooon oo

(d) Current (d) Window A/C units

0ooo  oooo  oood  bdbd

(15)
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10.

Il.

12

13.

The Audio frequencies lies between

(a)
(b)
(c)
(d)

Acidity test is conducted for

(a)
(b)
(c)

(d)

0 Hz and 5 MHz

20 Hz and 20 kHz

88 MHz and 108 MHz
425 kHz and 1350 kHz.

electrolytes used in battery

oils used in transformers

H{Emunnnn

mobil-oil used in diesel generators

L0

None of the above

The AM, FM and TV broadcast frequencies

are

(a)

(b)
(c)
(d)

of the same order as microwave

either (a) or (c)

Soil resistivity depends upon

(a)
(b)
(c)
(d)

Hydrometer is used for determining

(a)
(b)
(c)
(d)

moisture content
stone content
area of electrode
All of these

fluid level
specific gravity of liquids
relative humidity

all the above

Hooo 0ooo

(17)

14,

15.

16.

17.

18.

The interior of an air-conditioning duct is lined

with

(a)
(b)
(c)
(d)

R J- 45 Connectors are used in

(a)
(b)

(c)
(d)

The Supply to mast lights are provided throug

(a)
(b)
(c)
(d)

L N B Cs are used in

(a)
(b)
(c})
(d)

Mineral wool
Common straw
Cotton

Thin concrete slabs

Computer Networking
Interconnecting RF stages in

Transmitters
Audio Amplifiérs

None of the above

oo O OO

=

AVER
Mains Transformer '
Austin Transformer

Variac

MW Transmitter circuits
F M Transmitter circuits

S W Transmitter circuits

JUUH Ooo

R N Terminals

The Mobil-oil in a diesel generator has to be

changed

(a) Every month I:l
(b) Every week |:|
(c) As prescribed by the manufacturers I:l

(d)

Every year

i
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19. Dettol in First Aid Box can be used as

20.

21.

22.

(a)
(b)
(c)
(d)

Antibiotic
Antiseptic
Anti allergic

Anti rabbis

N

The spark plug of Diesel generator needs to

be cleaned

(a) Once in a month I:l
{b) Once in six months I:l
(c) Once in a year I:l
(d) Question of cleaning of spark

plug does not arise I:l

The condenser used in the refrigerant cycle
of an Air-conditioning plant are used to

(a)
(b)
(c)
(d)

block the refrigerant

00

filter the refrigerant
transfer the heat [Heat exchanger) I:l

None of the above

i

Gun microphone is preferably used for

(a)
(b)
(€)
(d)

commentary
music recording

drama recording

OO0

effects recording.

(19)

23,

24,

25.

In Oil circuit breakers, the oil is used to

(a) cool the live contacts
(b) insulate the live contacts
(c) lubricate the live contacts

(d) avoid rusting in live contacts.

Wave guides are widely used in
(a) MW Transmitters
by SW Transmitters

(¢) FM Transmitters

nodo  dbod

(d) Earth stations

The water used for valve cooling in MW
Transmitters is

(a) Mineral water

(b) Hard water

(c) De-ionised water

aodg

(d) Potable water
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Q. 1I.
(a)

(b)

(20)

Fill in the blanks :

1. Microphones normally provide a level of dbu.
2. Geo-stationary satellite is located above surface of Earth at a height of about
km

3.  Soundproof door in studios generally provides sound attenuation
than observation window .

4.  Silica Gel in transformers is used to moisture contents.

. is the main shaft of a diesel engine that controls the movement
of piston 7

6. A type fire extinguisher is specifically useful for putting out
fires started in closed area.

7. Oscillator crystals are made of

8. removes ripples from the output of rectifier.

9.  The wavelength of an electromagnetic wave is given by A = /
Frequency(f)

10. gas is used in air conditioning plant.

State whether True or False : ' (10)

1.  Modulation is used to reduce the bandwidth used. ( )

2. The helical feed in PDA of RN terminal converts. electromagnetic waves into electrical
signal. { )

3. Microphone with wind shield is generally used during O.B. recording. ( )

4.  CD player is an analogue device. : { )

5. Sky wave propagation is used for local coverage. ( )

(21)
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Q. IV.

Draw Circuit / Symbols / Diagram for the following : (10)

1.

One Kilo hertz audio tone.

2.  Earthing.

3.  Silicon control rectifier.

4.  Inductance [Variable].

5.  Selector switch.

Write full form of the following abbreviations : (10)
L o I T T VNN [OOSR R AR T
2 AU cnsemessasmecsmmasmmsssmssumeys sy spyns iy sniete 1L e v sxP SEAES et Sn th St vy
B R T i R R TR SR AR A5 SNSRI SR ARS8
B B T e T T B e T e S AR S R R
. W e R R R R R B S T s s s
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Part-11 (B)
BASIC OF TELEVISION BROADCASTING
(Total-100 marks)

Q. I. This question contains 25 questions of 2 marks each.
Mark Cross E against the correct answer. (50)

I. InaT.V. receiver there is no raster, no picture 5.  The interior of an air-conditioning duct is lined
and no sound. The most likely defective stage with

13 (a) Mineral wool
(a) Power supply unit
(b) Common straw
(b) Video output circuit

¢) Cotton
{c) Horizontal oscillator ©

(d) None of the above (d) Thin concrete slabs

Hinnn

2. The aspect ratio of a TV Receiver is 6. In UHF TV Transmitter the sound carrier is

Hoon  Odbo

(a) 4:4 (a) Amplitude modulated [ ]
(b) 3:4 (b) Frequency modulated D
() 4:3 (¢c) Phase modulated I:l
(d 3:3 (d) None of the above :l

3.  The AM, FM and TV broadcast frequencies
are 7. InaTV receiver, a BALUN is located between

(a) of the same order as microwave (a) Tuner and IF section
range

(b) much lower than microwave mnge|:|

(c) much higher than microwave rangeD
(d) either (a) or (c)

i

(b) Detector and Audio amplifier
(c) Antenna and Tuner

(d) Mains and Degaussing coil

]

4,  In Qil circuit breakers the oil is used to 8. An'UPS contains

ooot  0bdd

(a) cool the live contacts :l (a) Rectifier
(b) insulate the live contacts I:l (c) Inverter
(c) lubricate the live contacts I:l (c) Either Reciifier or Inverter
(d) avoid rusting in live contacts |:] (d) Both Rectifier and Inverter

(25)
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10.

11.

12,

13,

Soil resistivity depends upon

(a) Moisture content |:|
(b} Stone content ]:l
(c) Area of electrode :l
(dy All of these :’

The maximum distance between television
transmitter and receiving antennas for
reasonably good reception should be

(a) less than 20 km I:l
(b) less than 100 km ]
(¢) less than 500 km [ ]
(d) less than 1000 km ]

Cyclorama in a TV Studio is used for

(a) uniformly distributing light

]

(b) increasing intensity of back light|:|
(c) decreasing intensity of back lighLIZl
(d) absorbing back light ]

In Air-condition plants high suction pressure
is due to

(a) Excessive load
(b) Expansion valve over feeding
{c) Compressor operating unloaded I:]

@ ]

When compared with an audio system, you
could consider a television picture tube in a
T.V system as similar to a

LIL]

Any of the above

(a) Microphone =1
(b) Audio amplifier =}
(c) Loudspeaker ]
(d) None of these |:|

(27)

14.

15.

16.

17.

18.

Gain is measured in

(a) kW ]
(b) Volts i -]
(c) dB [ ]
(d) Hz ]

Dettol in First Aid Box can be used as

(a) Antibiotic
{b) Antiseptic
(c) Anti allergic

(d) Anti rabbis

Hydrometer is used for determining

odon oo

(1) fluid level

(2) specific gravity of liquids
(3) relative humidity

(4) All the above

The Mobil-oil in a diesel generator has to be
changed

(a) Every month D
(b) Every week I:l
(c) As prescribed by the manufacn:rara'l:]
(d) Every year ]

Gun microphone is preferably used for

(a) Commentary i
(b) Music recording [:]
(c) Drama recording D
(d) Effects recording - ]
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19. The spark plug of Diesel generator needs to

20.

21.

22.

be cleaned

(a) Once in a month
(b) Once in six months
(¢) Once in a year

(d)

plug does not arise

Question of cleaning of spark

0 OO0

The condenser used in the refrigerant cycle
of an Air-conditioning plant are used to

fa) block the refrigerant

(b) filter the refrigerant

LI

(c) transfer the heat [Heat exchanger] :’

(d) None of the above

R J- 45 Connectors are used in
(a) Computer Networking
(b) Interconnecting RF stages in

Transmitters
(c) Audio Amplifiers

(d) None of the above

MP3 represents
(a) Acoustic quality

(b) Sound compression standard
(c) Multi pins connector

(d) Multiple pad having 3 inputs

]

oot god O

(29)

23.

24,

23,

Acidity test is conducted for
(a) Electrolytes used in battery

(b)

{c) Mobil-oil used in Diesel

Qils used in transformers

generators

(d) None of the above

Cardiod microphone is a
(a) Bidirectional microphone

(b)

Directional microphone
(c) Omni-directional microphone

(d) None of the above

qooo oo Do

The electrolyte used in Lead-Acid battery is
(a) concentrated Hydrochloric acid I__—l

(b)

(c) concentrated Sulphuric acid

dilute sulphuric acid

(d) dilute Nitric acid

LU0
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Q. IL

(a)

(b)

(20)
Fill in the Blanks :
1. The wavelength of an electromagnetic wave is given by A = /
Frequency(f).
2. In Indian TV system, the horizontal scan frequency is Hz.
3.  Microphones normally provides a level of dbu
4.  Silica Gel in transformers are used to moisture contents.
5. A type fire extinguisher is specifically useful for putting out
fires started in closed area.
6. gas is used in air conditioning plant.
7. removes ripples from the output of rectifier.
8. is the main shaft of a diesel engine that controls the movement
of piston.
9. Geo-stationary satellite is located above surface of Earth at a height of about
km.
10.  Charge Couple Devices (CCD) converts optical image to signal.
State whether True or False : (10)
1. In TV lighting the fill lights are Hard sources. ( )
2. Modulation is used to reduce the bandwidth used. ( )
3. Yagi Antenna can be used for Satellite communication. ( )
4. The height of the screen in a 20-inch T.V. receiver is about 12 inches. ( )
5. Microphone with wind shield is generally used during O.B. recording. ( )

(31)
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Draw Circuit / Symbols / Diagram for the following :

1. DPDT Switch.

2.  Resistance [Variable].

3.  Earthing.

4.  Five cells connected in series.

5. Silicon control rectifier.

(33)

(10)



uya. Iv. Trefafas g & @ v fafa (10 )

1. DSNG.
2. HT
3, CCL4
4. DTH.
]
5. GHz.

............................................................................................................................................



Q. IV.  Write full form of the following abbreviations : (10)

1. DSNG
............................................................................................................................................
............................................................................................................................................

L]

............................................................................................................................................

(35)
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aTeT — 1 (3T
faega e gawcifaew & ImuRea Reaed
(F — 100 37F)
9T — 1 3H WA H 2-2 3(h F 25 we (50 37)

@ 3ca} & A "l (V) FT e semnsv]

1. afg fhar dedr 1 E suAT®E § 3R 3. 53w, 6 3114, 7 3114, 8 3114, 9 3014, 10
V cfAad dlecst, de [@dgsr Ufshar IHF & 6 IfRIY FAWR HA H

& GNI: g T gl EAJed Wiy
(@ V=E feie= A1 grem:
(b) V> E (a) 10 & & wfarew
(c) V<E (b) 8 3| & rferF
(d)V = E/r, ST8T 1 = i &1 3HdRF (c) 10 & F FTTaT
gfatre (d) 5 S &

2. Ueh dHloed GTAer & dhao 3 gfeear

¢l gfauy & A 7 e, Teh gy 9raX a7 & sXeX giar &
ggaeNerar gt

(a) 746 dIC
(a) 5%

(b) 750 darc
(b) 10%
(©) 15% (c) 756 drc
(d) 20% (d) 766 drc
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Q..

1.

PART -1

H-2015-16 (NZ, WZ, SZ)

(Compulsory)

BASIC PRINCIPLES OF ELECTRITY & ELECTRONICS

Total — 100 Marks

This section contains 25 questions of 2 marks each. (50 Marks)

Marks (V' ) against the most appropriate answer

If ‘E’ is emf and V is the terminal
voltage of battery then during
discharging process:

@V=E

(b)V>E

(c)V<E

(d)Vv = EIr where r = internal
resistance of battery

A carbon resistance has only 3
colour bands. Tolerance in the value
of resistance is:

(a) 5%

(b) 10%

(c) 15%

(d) 20%

3.

4.

6 resistances of value 5Q, 6Q, 7Q,
8Q, 9Q, 10Q are connected in
parallel. The equivalent resistance is:

(a) Greater than 10Q
(b) Greater than 8Q
(c) Equal to 10Q

(d) Less than 5Q

One Horse Power is equal to:
(@) 746 W
(b) 750 W
(c) 756 W

(d) 766 W

Page 3 of 42
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. Ffafga d<@r & e AREd 10, 3afAve @A @Al B e
AU W A STeled I JT™d gsdl ggfd g &
e (a) 3= dledal oley
(2) FHRTAT Fe& (b) 3T FAYE JfcaTenm
(b) TrFar-ShefEgs &f (c) 3= 3M3cye gfaaren
(c) FISA-Foi Tl (d) 3T YTaR offeRy
(d) 3RTFT F FI e 11. 90 aRay & amr:
. TSl @l AR fAeT A Slier ST (a) ST F Y T B
e (b) AES F IS T
(a) FF AR (c) AecsT & AT Teldl gl
(b) TSR ar” (d) AeesT & 1800 /AT Terdt &1
(c) H-HURrd ar 12.%w v aRwy &, e 3rgeer &
(d) (b) 3@ (c) iR R, WX fA#=T dlecaT ghom:
. 1500 IRAN.TA. (RPM) T gF aTel Y-y
8§ Nid AeX & AT gay Joars W;c
SR Pt QN e |
(a) 50 §&oT (a) 5dlec
(b) 100 §<aT (b) 10 e
(c) 150 §<aT (c) Y= dlee
(d) 200 gt (d) -5 aree

T ART AR U/ T e hg & AfFd ded (R

Tem ENelr & thareX) FT-AAe T gl aIfeT:
(a) 7T %@ & 3=o fAwa Hr @ 0
3R (b) 0.5
(b) TE e, o 3R FoFg= sEd (C)I%W
gl (d) 3ttt
(c) g foumm, 9 3R UllcAsh AT |4 Fefidhssrex T TR
& & (2) ATIHH TN F T TSI
(d) 3RIFT § FIg LT | (b) ATTHH ToT & AU TN
| gog & W T g F Mg (© THHEA & @A RRR G e
T ST g (d) @-er3T FFAISsFX & foIT dodr
. g 3N uacEy AAGEFI &
(a) 9TeR 3iR areca e wear B
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H - 2015 — 16 (NZ, WZ, SZ)
(b) ITeR 3R &Y

(c) Aot 3R arT

(d) Shdel gTax

. Addition of water at regular interval is  10. Common collector configuration has:

required for: (a) High voltage gain

(a) VRLA battery (b) High input impedance
(b) Nickle — Cadmium battery (c) High output impedance
(c) Carbon — Zinc cell (d) High power gain

(d) None of the above 11.Current in a inductive circuit:

. Fuse is always connected in: (a) Leads voltage
(a) Live wire (b) Lags voltage
(b) Neutral wire (c) In phase with voltage
(c) Earth wire (d) 180° out of phase with voltage
(d) Either (b) or (c) 12. Voltage across resistance R, in the
given circuit in steady state is:
. Power supply frequency of 8 pole R R,
Motor operating at 1500 rpm should
be: 1
(a) 50 Hz va T
(b) 100 Hz
(c) 150 Hz () 5 Volt
(c) 0 Volt

. Direction of conventional current in a

circuit is: (d) -5 Volt

(a) From lower potential to higher 13.Power factor at your station should

. be close to:
potential (@0

(b) Direction in which electrons flow (b) 0.5

(c) Direction in which positive charge (c) Close to 1
flows (d) Infinity

(d) None of the above

. . e 14.Resistance of semiconductor will:
. Rating of bulb is specified in term of:

() P 4 vol (@) Increases with increase in
a) Power and voltage

temperature
(b) Power and current (b) Decreases with increase in
(c) Voltage and current temperature
(c) Remains constant with

Page 5 of 42



(d) Power only

15. 90 9@ gIfaeey &1 39T fAeT
H fopar S &

(a) {7+ 9raX e A
(b)TH TH U TH (SMPS) H
(c) 3WIF aAT A
(d) forelr # =7t

16./7 & fe@mar ar a7 &:

K

(a) HTHICT
(b) Ao X
(c) 9ra¥ HeT
(d) 3 FB3

17. 3ol Fhaiaeld & T a7 HET 87
(a)
(b)

(© Vp=Zt I =1
(d) szvLY IL= Ip

18.Tsh SISC T I &

Vp=V_ IL=vV3 Ip

I
Vp =V, 'sz_%

(a) 2 1T T
(b) 4 i T
(c) 61T &T
(d) 8 i &1
19. Ueh FBell T Wehed T W AR
EF{FIT%:

(a) GATT T AT W
(b) F3el & I W
(c) Fzell IR & ged W

(d) 3WFd Y

20.

21.

22.

23.

24,

25.

H-2015-16 (NZ, WZ, SZ)
temperature
(d) Increases for p type
semiconductor & decreases for n
type semiconductor

fer av Ry & difee Y @ cafar &
peulon Dt

(a) =X (NOR)

(b) 3R (OR)

(c) @3 (NAND)

(d) TS (AND)

et FRARA & fFad & ged Feds
i Wi g2 Aesr garfer &

(a) aRT &7 3Tadd alecsT

(b) &TRA & HATT T Ugell 37h
(c) TR & A & GET 3P
(d) e &r AT, SAJ nf storEr pf

A A ATl H gA9T @FT & o

far ST &

(a) YRAT H AR W o5 FA A &
o

(b) YBITAT H YT T AT Tl & AT

(c) YR URT HT FHF FA & v

(d) 3WFT T

TAAEHeT T 3T [T A A &

ﬁv%mm’s‘:

(a) ool H T

(b) ag-yaTE

(c) del-yaTE

(d) Aex & afa

YHIAT 3cHoieh 3MAIS (LED) oot & dgd

EFFHER?IT%:

(a) foora 31T

(b) 371 AT

(c) HIS JHHAT AET

(d) 39RFd Ty

Teh Jadier I FY &THdT et gy &

(8) o x 100%

2
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(b) 3*%%“ x 100%

(C) 3 3ECIQE‘3I'I3T
WW+WW

(d) 3T & HIS AL

x 100%
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15. A series pass transistor is used in:

(a) Linear power supply
(b) SMPS

(c) Both of the above
(d) None of the above

16.Device shown in figure is:

O

(a) Ammeter

(b) Voltmeter

(c) Power meter

(d) Frequency counter

17.Which one is true for
connection?

(@ Vp=V_ IL=+3Ip

I
(b) V=V, 'L:T%

(©) Vp:%, =1,

d) Vp=VL I =1p
18.0ne byte is a group of:

(a) 2 bits

(b) 4 bits

(c) 6 bits

(d) 8 bits

19.Inductance of coil depends on:

(a) No. of turns

(b) Coil diameter

(c) Material of the core of coll
(d) All the above

delta

H-2015-16 (NZ, WZ, SZ)

20. Logic Y in the given figure is:

(&) NOR
(b) OR
(c) NAND
(d) AND

21. Colour band nearest to the terminals of
tantalum capacitor indicates:

(a) Maximum voltage of capacitor

(b) First digit of value of its capacitance

(c) Second digit of value of
capacitance

(d) Limit of capacitance i.e. nf or pf

22. DC motor starter is used to:
(a) To reduce starting load on motor
(b) To increase starting torque
(c) Reduce starting current
(d) All the above
23. Anemometer is used for measuring:
(a) Moisture in oll
(b) Air flow
(c) Oil flow
(d) Speed of motor
24. Light emitting Diode (LED) works under:
(a) Reverse bias
(b) Forward Bias
(c) No bias
(d) All the above

25. Efficiency of an amplifier is:
(a) Power in x 100%
Power out
(b)Power out x 100%
Power in
(C) Power in+Power out x 100%

Power out
(d)None of the above

Page 8 of 42
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geet- 11 Rea vyt #r qfd Hifaw OAF T F 2 3F §, A 3F
208)

. SHEBNER #H, &Y TR &7 GIATT oo, R e, g
gl

2. S URTGYT H, FHT GTECTT BT TTTT oo grdar
gl

IR 31 7= - 1 OO el 81 gl

A FOTH oo, yaties fT HA &TAAT I HH Blar
gl

5. GIABIRIAT ool &1 3T & ST ool gaRT T ST Fehal
gl

6. 3RS UG Tfoleel §elld & T oo, Heihsaer T 9IET fohar Srar
gl

T UTBCT BT BT ..o seee e s eee e g &1

fAT SHACTIT STFHT BT oo 3T o
ST gl

9. 3-¢ GRTY H FFIOT TIAT V3 X Vi x crrvrrrrrrrrrrrrrrrsrsssrsrsssssssssssssssssssssssssssssssesees grair
gl

10. = & AR, Z & AR W e YRT o Tehdl
gl
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Q.lIl:  Fill'in the blanks: (2 marks for each question- Total 20 marks)

1. Two types of loses in a transformerare ......................cooei and ...
2. Sum of all the voltages in @ closed I00P iS .....cciviiiiiiiii e,
3. Primary CellS @re NOL .......oie e
I O - 1P Amplifier has lowest efficiency.

5. Acidity of transformer oil can be checked with % ........................................ solution.
6. For manufacturing diode and transistor ..................cooieiiiinn. semiconductor is used.
7. Unit of INAUCIANCE IS ... e
8. Emitter — base junctionis .................. biased for transistor as a switch in OFF position.
9. Total POWEr iN 3-B CIFCUIL IS V3 X VX w.vnnieeee e
10. % WIF€ CAN CAITY ..eueetetite ettt et et ettt et e e aneees current than %wire.

Page 11 of 42
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Ted- 111 fasafaf@a sa« @& (V) & a1 7Ted (x) Ta18°T:
(TAF T F 2 3% ¢, F 3F 109)

1. BISAHICY T GAET S & 3 &1 RIS Tca A & faw v Sirar g

()
2. GTR Feor$ fAeROT SBRA & WAfAd sl A TR Feddrel ghar gl
()
3. WfAS Fea & fiae W gaar Rfesd @l g ()
4. 800 TFIRR 3T (AH) & & deRAT I Joflag el I &THAT 1600 TFIRRK
37X (AH) 8 STdT &1
()

5. SIABRAR &I GATT-3UIT (S 3HedTe) WAfAR Fsll vd gfacdias Fsolr &
eI & SRR BT B
()
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H - 2015 - 16 (NZ, WZ, S2)
weat- 1v. ffaf@a sfRfaat &1 oier R o@w wa & 230 § 59 39 109

1. §l U% T (CFL)

2. TH 3¢ St (SWG)

[98)

. Tg @Y & & (SPDT)

I

. @ T TF 35 (VLSI)

V)]

. #ArEHe (MOSFET)
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H-2015-16 (NZ, WZ, SZ)
Q. lll. State whether True (v) or False (x)

(2 marks for each question- Total 10 marks)
1. Hygrometer is used for measuring specific gravity of acid in battery. ()

2. Primary side of power supply distribution transformer has star connected windings. ( )

3. Ceramic capacitor has polarity marking on terminal. ()
4. Capacity of two batteries of 800 AH connected in series is 1600 AH. ()
5. Turns ratio of transformer is equal to the ratio of primary winding to ()

secondary winding.

Q. IV. Write expanded form of the following: (2 marks for each question- Total 10 marks)

1. CFL

2. SWG

3. SPDT

4. VLSI

5. MOSFET

ee- V. Awfaf@a & v ooy gdfiw sasT:
(TAF TT F 2 3% ¢, F 3F 108)

1. 9r-deer ATEHE

2. gRadl Wehca
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H-2015-16 (NZ, WZ, SZ)

3. &I sk (NOR) 31T &I FE—IdT & &I 3R (OR) I

4. Y AFAT SIS

5. %mmﬁg?gusﬁwﬁmwﬁw
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Q. V. Draw Circuit / Symbols for the following:
(2 marks for each question- Total 10 marks)

1. P-channel MOSFET

N

Variable Inductance

3. OR gate realised with two NOR gates.

e

Forward biased diode

5. Delta connected 3-@ Power System.

AT - |

a1 @ T - 11 (T) I HET - 1] (@ gl
aYT g AT AT & Fl weal F IeaR I |

(IS ATT & 100 3F § )
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PART - 11

Choose either Part — II (A) or Part — II (B)
and answer all questions in the part chosen

(100 Marks for each part).
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H-2015-16 (NZ, WZ, SZ)

HIT - 11 (A)
WA yaror F ImuRE R

g — 1. S WeeT # 2-2 3T & 25 et &
e 3ca} & FH TG (V) FT AT Fensw)
5. T &1 s9¢ & 3HeX T e8I

1. HATSHIBIT 3T ALAT STl 8
(a) 32T TR
(b) [T TR
(c) TTHAT TT
(d) HF=q
2. TR SOl &l [HET SeTg ST
SITdT %’:
(a) FTAT TEISAT
(b) &l Ffzar
(c) eTel T
(d) TH 91 T3
3. Rea ABHBT 81T §:
(a) Ga-fe ATSHIBIA
(b) Efa-f&em ATSHIBIA
(c) fer-fAdfara ArsHImIT
(d) 3IRFT & HIg oAar
4, MSIAGT THACT &I A A &
for Arafaf@a ar @vor g &

1.gaerT 2. fpermdie
3. 303 I TE/ THET 4. TT &
gefehl A et gl 18T

F - 100 3(F)
(50 37F)

o A WA FdeI$ AT &

(a) 3¢ ¥ TI-RAT H AFd &
fow

(b) A3 AT & FAAIK
&l AUehet & TIT

(c) BFC & 3EL dTIshd FATT TG
& fou

(d) 3HRFT § HIg ALl

. TFH U 3R (XLR) Sheldel I

T A T TRe & 39T fomar
STl &

(a) hael IAJfAT IR & fow

(b) hael HJfAd IR & faw

(c) HJfAd va HJfAA At araRar
& fou

(d) 3HFT & HIg =TLl

. w3 A AAeE wRRA ST

TR
0 &g (0 VU) g g1 I§ feT &
SEACES ?leIT %’:

(a) 0 dBu ofdel

(b) +4 dBu olgel

(c) +10 dBu ofdel

(d) +24 dBu ofdel

. TSI IS A9 & AT uged

e A e [ gar &

(a) 1 kHz/ 0 VU @Tg<T dd
(b) 1 kHz/ 0 dBu E@T8T dq

Page 18 of 42



Q.

H-2015-16 (NZ, WZ, SZ)

(c) 1 kHz/+2dBu
(d) 10 kHz/ +4 dBu

PART- Il (A)
BASIC RADIO BROADCASTING

This section contains 25 questions of 2 marks each.

Total- 100 Marks

(50 Marks)

Marks (v ) against the most appropriate answer

. Microphone output is considered as:

(a) High level
(b) Low level
(c) Normal level
(d) Saturated

. Switching console is installed in:

(a) Drama studio
(b) Music studio
(c) Control Room
(d) MP studio

. Ribbon Microphone is:

(a) Omni — Directional Microphone
(b) Bi - Directional Microphone

(c) Directional Microphone

(d) None of above

. MW transmitter Switching consists of
four steps:

1) Ventilation 2) Filament
3) Grid Bias/ MT 4) HT
The sequence should be

(@) 1,2,3,4
(b) 2,1,3,4
(c) 3,1,2,4
(d) 1,3,2,4
. T UH #1-140 UH Seog CrEHAI &

fortecar aifery & T (@) T
agsH e & 9 @r S g

(a) 68°C H 72°C dh
(b) 68°K & 72°K deh
(c) 20°C & 32°C dh
(d) FAY & d9ha T

10. FJfer 33T st & foe=t g1 ¢

5.

14.

Glass wools lining is used throughout
the AC ducts internally:

(a) To avoid the air leakage from ducts

(b) To avoid the transfer of airborne
noise

(c) To maintain the inside temperature
of ducts

(d) None of above

An XLR connector can be used in studio
for:

(a) Unbalance wiring only

(b) Balance wiring only

(c) Both Balance and unbalance wiring
(d) None of above

The normal operating Audio level in
studio is 0 VU, which corresponds to:
() 0 dBu level

(b) +4 dBu level

(c) +10 dBu level

(d) +24 dBu level

The standard Audio signal used for
Studio Audio measurement is:

(a) 1 kHz/ 0 VU Sine wave
(b) 1 kHz/ 0 dB Sine wave
(c) 1 kHz/ +2 dBu

(d) 10 kHz/ +4 dBu

T&h 10 fhollale Th TH TEAEH,
forge ufear aray i I 100 A
g, 1 "AY TaEaR g et grem:

(a) 10 fhrellefley a=
(b) 20 fhelleey d&
(c) 30 ThalieY d&
(d) 60 el de
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(a) 3— dR
(b) 2— dR
(c) 3— dR &7 had & AU
(d) 2 — IR &7 had & AU
11. 10 fFellaTe R&S UH TH T &
T (PA) ST T&IT AT gidr &
(a) 2
(b) 3
(c) 4
(d) 8
Th TH gAY & foet & Algels
g &:
(a) THATSEY A
(b) G@-ats H
(c) UTFT JadHh H
(d) IR H
13. el gl U T J2AT gl &

(a) TH Seog ciHAdA H
(b) U TH AT H
(c) TH Seog CHANHA H
(d) EdT AT H

12.

9. The temperature of crystal oscillator’s
oven of HMB-140 MW transmitter is
kept between:

a) 68°Cto 72°C
b) 68°K to 72°K
c) 20°Cto 32°C
d) Atroom temperature

10. A Balance Audio line has:

(a) 3-wire

(b) 2-wire

(c) 3-wire with shield

(d) 2-wire with shield

in 10 kW R&S FM

11.Nos. of PA

15.

16.

17.

14.

15.

H - 2015 — 16 (NZ, WZ, SZ)
T 35 3T (AIR) TF TH AT

& fou famfaf@a & & silgar ds
ST AT § 7

(a) @ TT TH &5 —1
(b) dr TIT TH &5 — 11
(c) @ TT TH &5 — 111
(d) g TI TH §5

ar3s RelfEer & fav Feafaf@a &
q HiT-AT WX Higel FhT e
forar Srar § 2

(a) ST AfFAT TR

(b) ET38 Hlal

(c) 39 o ose

(d) %er Tise

IR 45 FelkeX H1 GIAET fAFT
hael & forw fmar srar §:

(a) PITFHISA ol

(b) HJfeIcT 3MTSAT Shelel

(c)HT  (CAT- 5
(CAT)- 6 ol

(d) IR T el

AR &e

A 10 KW FM transmitter with A 100 M
Antenna Tower has a normal coverage
distance of:

a) Upto 10 Km
b) Upto 20 Km
c) Upto 30 Km
d) Upto 60 Km

Which of the following frequency bands
is used by AIR for FM Transmission?

a) VHF Band |

b) VHF Band Il
¢) VHF Band Il
d) UHF Band
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12.

13.

18.

19.

20.

Transmitter are:

a) 2

b) 3

c) 4

d) 8

In FM transmitter Modulation takes place
in:

a) Exciter

b) Pre-Amplifier

c) Power Amplifier

d) Driver

Circularly polarized antenna is used for:

(&) MW transmission
(b) FM transmission
(c) SW transmission
(d) TV transmission

IR U A &1 gaer oo

SoTer & 39foieT FRIGAT Fr ged

ma;ﬁvﬁ?mam%

(a) SITShITECAT BT3H, 7S feooll

(b) Tt &1 erenfarar

(c) T S 3R & 3} 3°fdler Sheqr
g.

(d) 3UFd T

SIofel ol & HuTolel  37eXa&Tor

TN F AR, SUA  Foolarlel

g9 & GE0T T ARl & 96

msn?n%:

(a) 1000 T¢
(b) 500 &1
(c) 100 &1
(d) 2000 T¢

Saoaliad ga-3meT & v &g
UhR T EAATHS IT Ja& FATET
3YYFA gl § 7

(a) TIST THAS 89

22.

23.

24.

H-2015-16 (NZ, WZ, SZ)

16. Which of the following software module

is not used for sound

purpose?

recording

Window Media player
Sound forge

Wave lab lite

Cool edit

17.RJ 45 Connector is used to connect:

a) Coaxial Cable

b) Balance Audio Cable

c) CAT 5 and CAT 6 Cable.
d) RF Cable

grIfAe 3UAR 90 H fHAeafaf@d
H & P41 9 JAar g 2

(a) @IEY & fow fBRT

(b) CFmR &Sier

(c) STAlel AGGH

(d) (b) 3R (c) A=t

ag H FA &1 AT AT P b
T fFg ATIe I FHT 39AT 81T g
?

(a) [COP= [y

(b) BTSAMHI

(c) T TTIHIHET
(d) TfaAEHeT

didlelehels] 9Ol # fhd YR &
Tgfas &1 39T gar g ?

(a) g MNfAT g
(b) STt hfaa aafax
(c) arsgfas FafaT
(d) 3T T

Page 21 of 42



H-2015-16 (NZ, WZ, SZ)

(b) CO, BT 25.7F8 YR &1 UA Ssog gAY T
(c) ST (1) 3T 3T AR Acash H 3UAIT ¢ 8 @
(d) 3WTFd F FIg gl g7
20.G8H T wH & T @ @eAd (a) gRE A
o= Re ¥ FguRa & & (b) ATeer AFT
(a) 3aRRE-aReT (c) 3R Us vy AT
(b) ST (d) 3T (BEL) [@fda
(c) 3Rl aar
(d) 3UUFT T
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18.RN terminals are used to receive the
programmes uplinked by:

a) Broadcasting House, New Delhi
b) State Capitals

c¢) Other uplink Stations of AIR

d) All the above.

19. As per the running maintenance
schedule of a diesel engine, the fuel
injection pump is checked up after
every:

(a) 1000 hrs.
(b) 500 hrs.
(c) 100 hrs.
(d) 2000 hrs.

20. For flammable liquid fire, which type of
fire extinguisher is most suitable?

(a) Soda acid type
(b) CO, type

(c) Foam type
(d)None of the above

21. Signal from microwave STL travels as:
(a) Space wave
(b) Ground wave
(c) Sky wave
(d) All the above

H-2015-16 (NZ, WZ, SZ)

22.Which of the following is found in first
Aid Box?

(a) Cough syrup

(b) Tincture Benzene
(c) Burnol ointment
(d) (b) and (c) both

23.Which measuring equipment is used to
determine moisture content of air?

(a) Tachometer
(b) Hygrometer
(c) Sling Psychrometer
(d) Anemometer

24.Which type of condenser is used in air-
conditioning system?

(a) Air cooled
(b) Water cooled
(c) Evaporative
(d) All the above

25.Which type of MW transmitter is not
being used in AIR network?
(a) Harris make
(b) Nautel make
(c) R & S make
(d) BEL make
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geet- 11 Rea vyt #r qfd Hifaw OAF T F 2 3F §, A 3F
208)

L ettt Ol H hdd olSel
YT B &

2. AT GTH TBCET T e, AR A H 3]
grar gl

K J HATSHIPIT o DI Il & [oIT UTaX ACells T TaThdl
sTel gIdr &l

A, TH BEET TICHT oo e e e e ees e ees e s s eeeeeae Eic)
grar gl

5. AT arel APAMHAD TT BT T oo, [T W AT fhar o
TehdT 2l

6. 3-TT drel T TS 3R (XLR) hodde o [T TEAT 1 I gHAT HIf3AT hael &
............................................................................................................................ q Ssa
gl

7. BIBIFATA BT BT TTTTT oo & fow grar
gl

8. TH BT T3 oo e e deTel ATSshidd Toieh
gl

9. WY @Y TH (PPM) FICT T B oo AT &I gGdT
gl

10. TH TH THHCT B TFATSEL FH oo Jael HAgeleT Bicl
gl
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Q. Il. Fill'in the blanks (2 marks for each question- Total 20 marks)
L console will have only line inputs.
2. Alow passfilter (LPF)will have ..o, in parallel.

L microphone does not require any power supply for its operation.
4, The MW antenna is ...coviniiiii i e e e e polarised.
5. The foam type fire extinguisher cannotbeusedon .................coooiiiiiiinn. fire.
6. The pin No. 1 of a 3-pin XLR connector is always connectedto ............................ of

the audio cable.

7. Directional coupleris USed fOr .......co.iiiiii

8. STL-05108 @ «uiuiiiiiiiiiiie e channel microwave link.

9. APPMmeterreadsthe ..........ccooviiiiiiiiiiiiiia value of the waveform.
10, i level modulation takes place in the exciter of FM transmitter.
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H - 2015 - 16 (NZ, WZ, SZ)
Ted- 111 fasafaf@a saa @& (V) & a1 Ted (x) 9180
(TAF T F 2 3% ¢, F 3F 109)

1. CO, HfFstema s a7 fegd-3mr & fv suyged 67 g ¢ ()
2. 39TE FOR A FF 9 TH & (QPSK) HIgelel &I AT §Iell B ()
3. HASHIBIT eafd T 3HTRAT H geodar & ()

4. 0 dBm 3133 @9 0 A & R giar &l ()
5. FENER H gehias ga feufd # g g ()

wee- IV. Prafaf@a dftfaal &1 quivr RET  (@F 90T & 23F §, 7o 3F 109)

1. T Tl ar ar (LNBC)
2. Or dr TH (PPM)
3. U T (HF)
4. 3 ™ ar - ) |r (DSB-SC)
5. Fare (QAM)

Q. lil. State whether True () or False (x) (2 marks for each question- Total 10 marks)

CO, fire extinguisher is not suitable for electrical fire.
QPSK modulation is used in satellite communication.
Microphone converts sound into audio.

0 dBm audio signal is equal to 0 mw.

The refrigerant enters in liquid state into compressor.

arwnNpE
NN AN NN
N N N N N
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Q. IV. Write expanded form of the following:
(2 marks for each question- Total 10 marks)

wed- V. famafaf@a & v aiww vlls samw: (0@F T F 230F § F 3F 108)

1. Rde Fselr

2. foeidr (BIT)

3.  TH @ AN (SCR)
4. A Y=g TS

5. U U U% (LPF)
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H-2015-16 (NZ, WZ, SZ)
Q. V. Draw Circuits/Symbols/Diagram for the following: (2 marks for each question- Total 10 marks)

1. Repeat coll

2. BJT

3. SCR

4. Vacuum Triode

5. LPF
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HTT - 11 (B)
CelfasTeT JHROT F MR g

g — 1. S WeeT # 2-2 3T & 25 et &

e 3ca} & FH TG (V) FT AT Fensw)
5.

1. UfReHT Ud HIsT shaol & foIT o7 T
seeg 3R & T AT ¢

(@) 0T 1
b) 138 1.1
(c) 1.5® 2.5
(d) 31

2. FM H 3meRT FuFes far e &
(a) Feh1Rr Y g =0T g
(b) el g Feoled &
(C)Wmﬁlﬂgir
(d) SgT3e oI &

3. WIST AR JYFd ¢l &

(a) AITSAT el TAETOT g
(b) 3HTfSAT hael GLETOT &
(c) 3R TH sheel YAGTOT g
(d) 39Fd T

4. RT H adr & TYAT TEAROT H
EIT?}TBGTQF{ @W %:
(a) afasr
(b) FEATER
(¢) JedrehX
(d) 38R

F - 100 3(F)
(50 37F)

difsar Tawx Tafua giar &

(a) O T IR &

(b) IR F

(c) ¥isar H

(d)TH T IR A

Saoeieliel ga-3mer & fou foa
YhIT T ALHG I Ga8 sITer
SIGFT B § 7

(a) |7 TRAS <18y

(b) CO2 139

(c) FT (W) TS

(d) 3RFT & FIg g1

T I 59¢ & X T SeIg Tord
3o I Wd Ters ATl &

(a) 3% ¥ T-RAE &I Akl &
for

(b) SFC & 3iET dATUHHA FATT I@A
& fow

(c) AF-3cUTied AR & EATATR
FI Ashel & T

(d) 3RIFT & P 6T

SISl Bofel & Hdlolel  37e[R&T0T

SR & R, do o

99 & qAETT e 3’ & 9l

T ST §:

(a) 1000 TC
(b) 2000 T
(c) 100 &
(d) 500 &
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PART - Il (B)
BASIC OF TELEVISION BROADCASTING

This section contains 25 questions of 2 marks each.

Total- 100 Marks

(50 Marks)

Marks (v ) against the most appropriate answer

. Acceptable value of VSWR for antenna

and feeder cable is:

(@ 0to1

(b) 1to 1.1
(c) 1.5t0 25
(d) Infinity

Iris control in camera is provided for:

(a) Controlling light intensity
(b) Varying focal length

(c) Colour adjustment

(d) White balance

Site master is used for:

(a) Testing video cable
(b) Testing audio cable
(c) Testing RF cable
(d) All the above

Polarization used for terrestrial TV
broadcasting in India:

(a) Horizontal
(b) Vertical
(c) Circular
(d) Elliptical

5. Video switcher is located in:

(a) PCR
(b) CAR
(c) Studio
(d) MSR

For flammable liquid fire, which type of
fire extinguisher is most suitable?

(a) Soda acid type
(b) CO,type

(c) Foam type
(d)None of the above

. Glass wools lining is used throughout

the AC ducts internally:

(a) To avoid the air leakage from ducts

(b) To maintain the inside temperature
of ducts

(c) To avoid the transfer of airborne
noise

(d) None of above

. As per the running maintenance

schedule of a diesel engine, the fuel
injection pump is checked up after
every:

(a) 1000 hrs.
(b) 2000 hrs.
(c) 100 hrs.
(d) 500 hrs.
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9. 1337 & TH s ¢ :
(a) 10 fHelare
(b) 20 fAlare
(c) 15 fAclare
(d) 30 fAclare

10. 9rafAs 3TgR gFF A fArafaf@da
H & Pla-ar 9 m JAar g 2
(a) @A & fow Ry
(b) f&FaR dofleT
(c) =TT FAGH
(d) (b) 3R (c) At
11.ag & T & A AT A F
foT g ATIs I3 &1 39T gdar
g ?
(a) CHIATT
(b) BTSINHII
(c) TOIdT TTIHIATET
(d) AR
12. THFHATSET T geIqc SFAISH I &
(a) 75 30EH
(b) 50 3EH
(c) 137 3
(d) 6 fralY 3NEH
13.99 S & I[IEY HE (HiE
YeReT) T TR Bl &
(a) 3TATATHR
(b) IR
(c) 3HUSThRR

(d) 3WRFd T
9. 13 dBmis equal:

(a) 10 mw
(b) 20 mw
(c) 15 mw
(d) 30 mw

10. Which of the following is found in first
Aid Box?

H - 2015 - 16 (NZ, WZ, S2)
14. arEafas @1 @S & §:

(a) & g1 (@ S H

(b) 8 TehIT H

(c) TG, ThIT H

OEIGREINE:]

15. 9t T diadr Tt ganr sy
STl g
(a) HoCIATR
(b) SHIHET
(c) TATAIFAIET
(d) STFHHIEY

16.5f/F T[T & YR AT &1 T
d9ATT g §:
(a) 20000 hiedeT
(b) 32000 hiedsT
(c) 100000 shfedast
(d) 65000 hicdeT

17.977 (PAL) difsaY & Us Adhs #
AT I TEIT T §:
(a) 30
(b) 25
(c) 50
(d) 60

18. AEATSE I ofeh Ul gIclT &
(a) 3oddeT
(b) fearer
(c) (a) AR (b) A=t
(d) SRFT H T PIS AdT

14. True colours are seen in:

(a) Warm light
(b) Green light
(c) White light
(d) Blue light

15. Light intensity is measured using:

(&) Multi meter
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11.

12.

13.

(a) Cough syrup

(b) Tincture Benzene
(c) Burnol ointment
(d) (b) and (c) both

Which measuring equipment is used to
determine moisture content of air?

(a) Tachometer
(b) Hygrometer
(c) Sling Psychrometer
(d) Anemometer

Input impedance of exciter is:

(@) 75 Q
(b) 50 Q

(c) 137 Q
d) 6kQ

Shape of cross section of waveguide is:

(a) Rectangular
(b) Circular
(c) Elliptical
(d) All the above

H - 2015 - 16 (NZ, WZ, SZ)
(b) Tachometer
(c) Anemometer
(d) Lux meter

16. Colour temperature of blue light source
is:
(a) 2000°K
(b) 3200°K
(c) 10000°K
(d) 6500°K

17. In PAL video, number of frames in one
second is:

(a) 30
(b) 25
(c) 50
(d) 60
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19. 8-FER e & 23, FeTeaT YT A ¥
(a) TSR VSRR
(b) FedThR (a) g2 & el Ya @ ciarol ga
(c) 3TIgcdlehR (WRTTeIh) I ST aTelr Hﬁaﬁr @
(d) ITARIARAF (BTSISIoh) (b) HET W & FHEAIR Jedl

20 & & Frez &Y . (c) HCATSC T 3eoidel HI0T
b o o (d) 3T TG e § FAS
(8) S o woT 3 24 81T SOT F TR TR AEF 17525
(b) ST o seeg 3 AIMEEST ¢ ar €afer arges g
(c) 3r &Y dlee/ FAlex H
(d) 3 & ASIaTee Hex 7 (a) 180 AIMEEST

21. AR tRId & 3edRT (b) 181.75 FIMEEST
ciEeRe  oise e@rT Se ol (c) 181.5 FIMgCoT

AfFT 1 et # ST g g (d) 181.25 AIMEEST
(a) § TH TIr 25. goT HAreteT Qifsar @edtar & 8Iar &
(b) 3SAT TIT
(c) &IRT aaT (a) IUT YEHIC
(d) d99 aLT (b) &= ﬁm
(c) EatR q+

22 TR SOl & e 5 & (d) STRIFT T
GufelT &1 39T gidar g ?
(a) Ay Mfda gefa=
OECRUGEE;CICE]
(c) arsufeeh FafaT
(d) 39 T
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18. Satellite look angle is:

(a) Elevation
(b) Azimuth
(c) (a) & (b)
(d) None of the above

19. Geo-stationary orbit is:

(a) Highly elliptical
(b) Circular
(c) Parabolic
(d) Hyperbolic
20. Field strength of TV
measured in:

is generally

(a) dBm

(b) dBw

(c) dBv/m

(d) dBpv/m
21. The purpose of transmitting aerial is to
convert power delivered by transmission
line into :

(a) EM Wave
(b) Heat wave
(c) Current wave
(d) Voltage wave

22. Which type of condenser is used in air-
conditioning system?

(a) Air cooled
(b) Water cooled
(c) Evaporative
(d) All the above

wReT- I Rea vt #r qfd Hifaw
208)

ATdY ST B

23.

24,

25.

H - 2015 - 16 (NZ, WZ, SZ)
Longitudes are:

(&) Semicircles connecting north pole to
south of earth:

(b) Circles parallel to equator

(c) Elevation angle of satellite

(d) Height from mean sea level

In TV transmission, if vision carrier is
175.25 MHz, the aural carrier will be:

(a) 180 MHz
(b) 181.75 MHz
(c) 181.5 MHz
(d) 181.25 MHz

Colour composite video signal contains:
(a) Color Burst
(b) Horizontal Sync

(c) Vertical Sync
(d) All the above

(TAF T F 2 HF §, T HH
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10.

H-2015-16 (NZ, WZ, SZ)

FAY FH IRAAAT BIhAT AFATS AT T B oo,
egd 8l

M. FRST A FHT T AT TEIT T P T,
HATSHIPIA T TAET &I &l

FAY FT HITCERT STTP oo @ fdegd  f@eerer & aRafda
AT ¢

R o Bfoced ARERIT TATAT F THT e, AlAh
T &

ST aTel TTFAATHD TT BT T oo, 3T W oTgr Tohar o
Thl ¢

Fill in the blanks (2 marks for each question- Total 20 marks)

Aural IF frequency in TV transSmitter is .........oviiiiiiiieiirr e MHz.
Power of a TV transmitteris measured by ..., meter.
Sizeofreceive PDA ... as downlink frequency increases.
In TV Studio fill light is USed fOr ..o,
In a camera, lens with variable focal lengthis called ..............ccociiiiiiiiiiiiiinn,

For picking up ground sound ............cccooeiiiiiiiiiininnn. microphone is used for OB
coverage.

Optical block of camera convert .............cccooviiiiiiiiiiiiii, into electrical signal.
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10.

A Low Pass Filter(LPF) will have ......................

India has adopted ..........ccooeiiiiiiiiii,

transmission.

The foam type fire extinguisher cannot be used on
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.............................. in parallel.

..... standard for digital terrestrial



H - 2015 - 16 (NZ, WZ, SZ)
TA- 11 fArafaf@a 3 @@ (V) § 31 70T (x) TABT: (93F 0o & 237% & Fer 3% 108)

1. 9Tl (PAL) f&¥ed & &Y fsar Read 5 Aemgdst as AfAT gar &l (

2. Wefide ga ufa & s ﬁ'qg'ddl gl (

3. )cozaaﬁramﬁaﬁaga-masﬁmwaﬁ@FlT%l (

4.%Wmﬁaaﬁwawmﬁg«mfrcmc\lwarinﬁwI (

5.)ﬁﬁ$wzrw3ﬂwWamﬂ6sooomm%l (
)

weat- 1v. ol sfRfaat &1 oier AT @ wa & 230 L5937 109

1. ST TH S-TH T (DSB-SC) .oovoeieieiieieeee e
2. F T TH (UHF) oot

B, TH UT S (SPG) .o,
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H - 2015 - 16 (NZ, WZ, SZ)
Q. lll. State whether True (V) or False (x) (2 marks for each question- Total 10 marks)

1. TV Video signal is limited to 5 MHz in PAL system. ( )

2. The refrigerant enters in liquid state into compressor. ( )
3. CO, fire extinguisher is not suitable for electrical fire. ( )
4. A colour camera requires more light compared to black & white camera. ( )
5. Average colour Temperature of Day light is 6500 °C. ( )

Q. IV. Write expanded form of the following: (2 marks for each question- Total 10 marks)

L. DSBS i
2. UHF
B O P G
. GG i
B B D i

veet- V. fmfaf@a & for sRuw/ gdfls somme: ow wa & 231w E 37 3w 109
1. &S & (BIT)

2. TH d 3R (SCR)

3. Udl 91 UH (LPF)

4. 9t T oY TfSeX (PNP Transistor)
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5. 319 37¥ar §{fA (Earth or Ground)
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Q. V. Draw Circuits/Symbols/Diagram for the following: (2 marks for each question- Total 10 marks)

1. BJT
2. SCR
3. LPF

4. PNP Transistor

5. Earth or Ground
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ROUGH WORK
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